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Question Number : 1 Question Id : 6154751591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the kev teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ ideas and contributions
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Options: 'repp

5154756201, 1 Your Personal Exams Guide
6154756202, 2
5154756202, 3
E154756204. 4

Question Number : 1 Question Id : 6154751591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756201, 1
6ls4756202 2
6154756203 3
5154756204, 4

Question Number : 2 Question Id : 6154751592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Translating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

£154756205. 1
5154756206, 2
5154756207, 3
5154756208, 4

Question Number : 2 Question Id : 6154751592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756205, 1
6154756206, 2
6154756207, 3
6154756208 4

Question Number : 3 Question Id : 6154751593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors affecting teaching related to positive learning environment in ar

nstitution :
(1)  The extent to which teachers make clear prezentation

(1) The scope for sharing and open discussions within the classroom and the mnstitution a:

such
(111) Teacher's mastery of the content as reflected 1n answering students’ gquestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v)  Awailability of teacher and his/her guidance
Choose the correct answer from the options given helow :
(1) (1) and (111)
(2) (1) and (111)
(3 (1v) and (v)
(4) (11) and (1v)

Options:

6154756209, 1
5154756210, 2
6154756211, 3
6154756212 4
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SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= &1 T gl § 39 FEEl i Tear ilae 91 R o § aEnend Aiang TiEs F g6y 0 5 3

T A E

Your Personal Exams Guide

i) Tom i aw e T welE wa
(i) e F HE-TY T H AR w1 A A v el 941 # 5d S9EA

(1) WA % 991 1 39 - o FH 0 UZEE FHarE] e -mmi o e e

(iv) T F9ET Rl § ThAcaF Taod &1 ai—a7 3990 5631 9H1
(V) 51299 94T 399 P29 =hi 39eT=ddl
i f2u U g 0 ¥ HE 39 R 99
(1) (1) 3T (ii1)
(2) (i1) 371 (iii)
(3) (iv) 2T (v)
(4) (ii) # (iv)
Options:
5154756209, 1
6154756210, 2

B154756211. 3
5154756212 4

Question Number : 4 Question Id : 6154751594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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In the following list, which belong to the category of learner-centred appmaches’repp
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(1) SWAYAM

(1) Computer-aided instruction

(m) MOOCS

(1v) Quizzes

(v) Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (11) and (111)
(3) (11) and (1v)

(4) (111) and (v)

Options:

6154756213 1
El-4756214. 2
6154756215 3
6154756216 4

Question Number : 4 Question Id : 6154751594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756212 1
6154756214 2
6154756215 3
6154756216 4

Question Number : 5 Question Id : 6154751595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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In the following two sets, set I mentions the evaluation svstem while set Ilrg(*gptgﬂ

descriptive features. Match the two sets

Set I

(Evaluation system)

(a) Formative evaluation (1)

(b) Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)

(v)

Your Personal Exams Guide

Set 1T
(Dezcriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifyving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1%)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(v). (d)-(1v)
Options:

£154756217. 1

£154756218 2

E15475682139. 3
E15475E220 4

Question Number : 5 Question Id : 6154751595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)
(2) (a)-(1). (b)-(11). (e)-(m1). (d)-(1v)
(3) (a)-(111). (b)-(xv). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(¥). (d)-(1v)

Options:

E1547EEZ217. 1

E1547EEZ1E 2

B154756219. 3
B154756220. 4

Question Number : 6 Question Id : 6154751596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization, theorizing, deduced conzequences. obzervation and testing

(2) Testing. ohzervation. conceptualizing, theorizing and deduced consequences

(3) Theorizing. deducing consequences. testing. observing and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method tc

verify them
Options:
£154756221. 1
6154756222 2
6154756223 3
6154756224 4

Question Number : 6 Question Id : 6154751596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756221, 1

6154756222, 2

5154756223 3
Bl54756224. 4

Question Number : 7 Question Id : 6154751597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholasti
Achievement of bovs and girls in terms of their soclo-economic background’. which can b
designated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

5154756225 1
61547568226, 2
Bl547568227. 3
B1547562258. 4

Question Number : 7 Question Id : 6154751597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154756225 1
51547568226, 2
6154756227, 3
5154756228 4

Question Number : 8 Question Id : 6154751598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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When results obtained in a research study can be extended to a group lﬂl‘g!lr %Rph
sample (outside the context of the study) 1t 1s called r———

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

5154756229 1
B154756220. 2
B154756231. 3
5154756232, 4

Question Number : 8 Question Id : 6154751598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B154756229. 1
5154756230, 2
51547568231, 3
5154756232 4

Question Number : 9 Question Id : 6154751599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a thesis ‘Format and styvles of referencing’ have been inappropriately followed. this 1s a
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the rezearcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

B154756253. 1
6154756254 2
5154756235, 3
51547562356, 4

Question Number : 9 Question Id : 6154751599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756233, 1

6154756234, 2

6154756235 3
51547562356, 4

Question Number : 10 Question Id : 6154751600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A universzity department plans to undertake a study wherein attitudes. values and biases ¢
teachers and students are to be probed with an eve on disclosing their patterns o
adjustment. Which tvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(m}  Descriptive method
(1v)  Ethnographic method
() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (111)
(3) {11) and (v) (4) (1) and (1v)
Options:

51547568257, 1
6154756238, 2
5154756239, 3
E154756240. 4

Question Number : 10 Question Id : 6154751600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (1) 3\ (i) (2) (i) 3R (iii)
(3) (i) #FF (v) (4) (iD) 3T (iv)
Options:

5154756237, 1
5154756238, 2
B154756239. 3
B154756240. 4

Question Number : 11 Question Id : 6154751601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Dvnamics of good classroom communication mvolves :

{a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and ()
Options:

Bl54756241. 1
Bl54756242 2
5154756243, 3
5154756244 4

Question Number : 11 Question Id : 6154751601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a), (b) R (¢)
3)  (b). (c) N (e)
Options:

5154756241, 1
6154756242 2
5154756242 3
B154756244. 4
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(b), (c) #R (d)
(c), (e) IR ()

(2)
(4)

Question Number : 12 Question Id : 6154751602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Instructional communication in the distance education mode 1=

(1) unstructured
(3) informal
Options:

B154756245 1
Bl54756246. 2
5154756247, 3
51547562458, 4

self-regulatory

structured and interactive

Question Number : 12 Question Id : 6154751602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

Bl54756245 1
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6154756246, 2 'repp
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51547562458, 4

Question Number : 13 Question Id : 6154751603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A teacher tells his students — "When vou learn this. vou will be able to carry out vour projec
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

5154756249 1
5154756250, 2
B1547568251. 3
B154756252. 4

Question Number : 13 Question Id : 6154751603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =E-TE= (2) 3R TR
(3)  H9=d g%e (4) TFRTHS ToelT
Options:

5154756249 1
5154756250, 2
B154756251. 3
B154756252. 4

Question Number : 14 Question Id : 6154751604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles

(b) Liberal use of adjectives
(c) Clarity

(d) Conclseness

(e) Correctness

(f) Use of complex sentences

Choose the correct option from the following :

i1) {a). (b) and (c) (2) (b). (c) and (d)
(3) ic). (d) and (e) (4) (d). (e) and ()
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Options: 'repp

51547568253 1 Your Personal Exams Guide
6154756254 2
5154756255 3
B154756256. 4

Question Number : 14 Question Id : 6154751604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  Ta=MvI = IERATHF 3T
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(1) (a). (b) 31 (c) (2) (b). (c) 3 (d)

(3) (c). (d) T (e) (4) (d). (e) 3T (D)
Options:

B154756252. 1
B154756254. 2
5154756255, 3
5154756256, 4

Question Number : 15 Question Id : 6154751605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements — One 1s labelled as Assertion (A) and the other 1s labelle
as Reaszon (R) :

Assertion (A) ; Communication does not include all human behaviour for exchange
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

{(2) Both (A) and (R) are true but (R) 15 not the correct explanation of (4)
(3) (A) 15 true. but (R) 12 false

(4) (A) 1= false. but (R) 1s true

Onpntions -
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6154756257, 1 prepp
6154756258, 2

5154756259, 3
6154756260, 4

Question Number : 15 Question Id : 6154751605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (A) 21T (R) 241 T8 & 9971 (R). (A) =i o =g 2|
(2) (A) 3T (R) 21 & & AT (R). (A) =hi T =amr=a1 981 21

(3) (A) T 2, =il (R) e 2|

(4) (A) TeTd 8, =il (R) TE 21

Options:
6154756257 1

B154756258. 2
5154756259, 3
5154756260, 4

Question Number : 16 Question Id : 6154751606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Two numbers are in the ratio 3:7. If 8 15 added to both the numbers. their ratio becomes 5:€
The numbers are

(1) 12, 28 (2) 6.14
(3) 15. 35 (4) 24,56
Options:

5154756261, 1
E154756262. 2
B1547562E2. 3
B154756264. 4

Question Number : 16 Question Id : 6154751606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12. 28 (2) 6, 14
(3) 15,850 (4) 24, 56
Options:

5154756261, 1
6154756262, 2
E1547562E2. 3
E154756264. 4

Question Number : 17 Question Id : 6154751607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X 1n the following series :

3.8,18,38. X ...1s

(1) i8 (2) 80
(3) 76 (4) 74
Options:

B154756265. 1
5154756266, 2
E154756267. 3
5154756268, 4

Question Number : 17 Question Id : 6154751607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafifgs AT 0 X 2 -

d, 8, 18, 38, X, ...

(1) 78 (2) 80

(3) 76 (4) T4
Options:

5154756265, 1
5154756266, 2
B1547562E7. 3
B154756268. 4

Question Number : 18 Question Id : 6154751608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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If ‘SOLUTION" 1s ‘' R5KTSHAHM' then 'CROME’ will be written as 'relpmpd
(1) BQ5HL (2) B53QLH
(3) BQA5LD (4) BSHLH

Options:

5154756269, 1
51547568270, 2
B1547568271. 3
B154756272. 4

Question Number : 18 Question Id : 6154751608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
iz ‘SOLUTION' % ¢ ‘RAKTSHAM 2 a1 ‘CROME’ =i Hefdfgd 4 4 g =9 § foar A 7

(1) BQ>HL (2) B5QLH
(3) BQ:LLD (4) BS5LH
Options:

5154756269, 1
5154756270, 2
B154756271. 3
Bl54756272. 4

Question Number : 19 Question Id : 6154751609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If "a’ 1= 1inversely proportional to "b” and ‘b’ 1= inversely proportional to ¢’ then

(1) ‘a’ 1s Inverselv proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a 1s directly proportional to ‘be
Options:

B154756273. 1
6154756274 2
61547568275, 3
6154756276, 4

Question Number : 19 Question Id : 6154751609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T2 e’ b’ S HTIT] 2 3 b e SR HTAT] 2, dl
(1)  ‘a. ¢ 1 FHaATd 2 (2) ‘a.c F FATAHEIA 2
(3) ‘af=R? (4) ‘a. ‘be F ATAMEI 2

Options:
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£154756273. 1 'repp

6154?562?4 2 Your Personal Exams Guide
61547568275, 3
6154756276, 4

Question Number : 20 Question Id : 6154751610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate o
interest 1

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

51547568277 1
6154756278, 2
5154756279 3
B154756280. 4

Question Number : 20 Question Id : 6154751610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

22000 T4 | 919 W 9 HEH T T 180 = TRV =TS T 24T 21 =374 i 9iE T 2 -

(1) 9% (2) 10%
(3 11% (4 12%
Options:

61547568277 1
6154756278, 2
5154756273, 3
E154756280. 4

Question Number : 21 Question Id : 6154751611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonabl
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

5154756281, 1
6154756282 2
5154756282, 3
Bl54756284. 4

Question Number : 21 Question Id : 6154751611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 2 Wrong Marks: 0 'repp

21 11 35 941 el A1 27

(1)  3FIH=H U S0 (2) 7IgEm
(3)  AFYH-eH UZ EHH (4) = IA
Options:

B154756281. 1
B154756282. 2
5154756283, 3
5154756254 4

Question Number : 22 Question Id : 6154751612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The distinction between Savikalpaka (determinate) and Nuwvikalpaka (indeterminate) i
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyaksa (perception)
(3) Arthapatti (postulation) (4) Upamaiana (comparison)
Options:

B154756285. 1
B154756286. 2
51547568257, 3
51547562858, 4

Question Number : 22 Question Id : 6154751612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faferiiaa § 4 f5E 9o = gay O gfaseas 10 Adwers = &g o9 B 9 27

(1) HIHH (2) 9g4g
(3) A (4) ITEM
Options:

B154756285. 1
61547568286, 2
6154756287, 3
5154756288, 4

Question Number : 23 Question Id : 6154751613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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The term Paksa’ according to classical Indian school of logic refers to which of t!t,r 918811
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

B154756289. 1
5154756250, 2
5154756251, 3
5154756232 4

Question Number : 23 Question Id : 6154751613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IS AT FH9E JEE & SFER 9 FATE 6 U § FefatEa 1§ e 9w O et 27

(1) dJEed T (2) ¥R 92
(3) <H (4) HeR U7
Options:

5154756289, 1
B1547562390. 2
B154756291. 3
51547562592, 4

Question Number : 24 Question Id : 6154751614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which
determined by whether the proposition affirms or demies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

5154756232 1
51547562394 2
B154756295. 3
B154756296. 4

Question Number : 24 Question Id : 6154751614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fafaias O 9 $3-91 959 T G9aens 9aaa $1 [J9ma O Taiad 2 91 20 99 J [t gm0
T Thare @ THESHE 1 R a1 & A9F] SEEE A 87

(1) o (2) 9fmm

et

(3) ELty (4) dAdT
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Options: Prepp

5154756253 1 Your Personal Exams Guide
51547562394 2
5154756235 3
B1l547562596, 4

Question Number : 25 Question Id : 6154751615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 % 5 (=60), 1
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

5154756237, 1
51547562398, 2
B154756299. 3
B154/7562300. 4

Question Number : 25 Question Id : 6154751615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TRl d9 STER 9ul @l F UEEA 6 g 9159 | F4: 3 x 4 x 5 (=60). 6 gFI Wi 2| 40 TF
TR F1 T HiEd 27

(1) EUEEIR EAGET (27 3 =T T
(3) ST a5 (4)  SPEATHF T
Options:

51547568257, 1
515475623958, 2
51547562399, 3
5154756300, 4

Sub-Section Number: 2
Sub-Section Id: 61547574
Question Shuffling Allowed : Yes

Question Id : 6154751616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuaesticon Label - Comprehension
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Directions Q. 26-30 : The following table gives the percentage (%) of pecgf:%

L
Your Persondl Exams Guide,

;

knowledge of different programming languages. Assuming that the total number of peopl
having knowledge about programming language 12 12.00.000. answer the questions tha

follow the table :

Programming Language | % of People having knowledge
C++ 15%
C 25%
COBOL 12%
FORTRAN 153%
Java 15%
LISP 10%
Python 10%

Sub questions

Question Number : 26 Question Id : 6154751617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The ratio of the number of people having knowledge about C to that of knowledge abou

Java 1s

(1) 3
(3) 1:

=

Options:

61547562301, 1
6154756302 2
6154756303 3
5154756304, 4

(2)
(4)

(]
]

o
]

Question Number : 27 Question Id : 6154751618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

How many people have knowledge about C language?

(1) 1.80.000

(3) 1.56.000
Options:
5154756305 1
5154756306, 2
5154756307, 3
5154756308, 4

(2) 3.00,000
(4) 1.44.000

Question Number : 28 Question Id : 6154751619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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The total number of people having knowledge about C. Java and COBOL 1s 'repp
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(1) 4.80.000 (2) 5.04.000
(3) 5.16,000 (4) 6.24.000
Options:

B1547562309. 1
5154756210, 2
5154756311, 3
5154756312 4

Question Number : 29 Question Id : 6154751620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the average percentage (%) of people having knowledge of programming language
Python. LISP and Java?

(1) 1.04% (2 11.7%
(3) 26.6% (4) 11.0%
Options:

5154756312 1
B154756314. 2
£154756315. 3
5154756216, 4

Question Number : 30 Question Id : 6154751621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programmin
languages 1s

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

B154756317. 1
5154756218, 2
5154756219 3
5154756320, 4

Question Id : 6154751616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cestion Label - Comprehension
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29 (W9: 26 § 30) ; Ffaigd aifer § fafag gmnfan 3 97 g« =3twar $i ‘;ﬂ?lﬂelm‘f

Your Personal Exams Guide,

iz aF T 9 S S ad 9EE a3 F e 9= 12,00,000 @, 91 ATl AT
ffeafag vt =1 3 990

IIET o d< Feara-fi FFAT T

TTel SARAT T Tiaeraa
C++ 15%
C 25%
FEA 12%
TR 13%
EIG|| 15%
U e TE i 10%
SR B 10%

Sub questions

Question Number : 26 Question Id : 6154751617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 3:0 (2)  6-3
(3) ekt | (4) 5H:2
Options:

5154756201, 1
6154756302, 2
5154756303, 3
£154756304. 4

Question Number : 27 Question Id : 6154751618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forae =afoRdil % C wivae & IEEE E 7

(1) 1.80.000 (2) 3.00,000
(3) 1.56.000 (4) 1.44.000
Options:

£154/756305. 1
6154756206, 2
5154756307, 3
5154756308, 4

Question Number : 28 Question Id : 6154751619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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C. F191 31 A Svas I I A1 1 Fe T 2

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

B1547562309. 1
5154756210, 2
5154756211, 3
5154756312 4

Question Number : 29 Question Id : 6154751620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T2, U 12 UH 91 37 G0 GO odd F SR T 9 d0 6 2 E8d 9iaeddn Al 27
(1) 1.04% (2) Aidni%

(3) 26.6% (4) 11.0%

Options:

5154756312 1
B154756314. 2
£154756315. 3
5154756216, 4

Question Number : 30 Question Id : 6154751621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

B154756317. 1
5154756218, 2
5154756219 3
5154756320, 4

Sub-Section Number: 3
Sub-Section 1d: 61547575
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154751622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Consider the following storage devices : 'repp

Your Personal Exams Guide

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (c). (a)
(2) (b}). (a). (c)
(3) (c). (b). (a)
(4) {a). (c). (b)

Options:

6154756321, 1
6154756322 2
6154756323 3
E154756324. 4

Question Number : 31 Question Id : 6154751622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- | T s i [ - = [ [l c
Hefarfigd guem fzasdl t fa=ar Sl
(2) zTs 25
(b) H I m

(c) 29T 2 UE

3= TUEY @9dT & ARE 0 7 FARyd Siee JR v HFeer R

1 (b)), (0. ()
2 (b (. (@
3 (o). (b). (a)
@) (a). (e), (b)

Options:

6154756321 1
Elo4d7oe322. 2
6154756323, 3
6154756324 4

Question Number : 32 Question Id : 6154751623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: O
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Which of the following 1s a ‘Decision Support System’ for assisting people 1n 'zﬁﬁ?&-:

Your Personal Exams Guide

decisions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:

6154756325 1
6154756326, 2
6154756327, 2
6154756328, 4

Question Number : 32 Question Id : 6154751623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

faffiga @ O 9 o1 S gA 399 9= % 99 o e gdge AviE o9 4 gerar = aer ol

oo dT 27
(1) é—q 2]

(2) OmTs

s

(3) AT ™G

(4) THIHIHT

Options:

6154756325, 1
6154756326, 2
6154756327, 3
154756328 4

Question Number : 33 Question Id : 6154751624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
154756329 1
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51547565352, 4

Question Number : 33 Question Id : 6154751624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEfeiiagd # & FH °1 3-Ha + "y § 3399 ¢ 7
(1) o8 F2I 2% T 9 T U 9 2
(2) W@ A TaEi A 9 § 9 8wl 2
(3)  T-Tef O T Tl O 2
(4) O 99 ° 209 9 H 2 2

Options:

6154756329, 1

6154756330, 2

51547563351, 3
E154756332. 4

Question Number : 34 Question Id : 6154751625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I wath List IT :

List I Last II
(E-1nitiatives) (Descriptions)
(a) Vidwan (1)  Repository for full-text thesis. e-book

and journals

(b) Digilocker (1) Education portal to facilitate learning

(¢) Sakshat (111) Database of leading sclentist.
researchers

(d) Shodh Ganga (1v) Platform for izssuance and verificatio

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(111). (e)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v), (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). {c)-(1m1). (d)-(1v)

Options:
CciCAFCEToS A
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51547565334 2

5154756355, 3
51547565356, 4

prepp
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Question Number : 34 Question Id : 6154751625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

-1 &1 g1-11 & 319 A HIag
gHl-1
(3-zafusEm)
(a) Taem
by =i
() T
(d) Img T
Fr=1 25U T famedl 4 O OE 3 9Hd
(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (e)-(11), (d)-(1v)
Options:
£15475R3323 1
E1547EEZ=4d 2

£1547565335. 3
5154756356, 4

T=HI-1T

(forer)
@) i g Wig gEg, $-gEE IR e F
(i) AT T GETA 99H % AU Afaqs 9ea
(i) S S /ST w5 See
(iv) =5l Td YA % SE H 99T T

Question Number : 35 Question Id : 6154751626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of “WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
6154756327 1
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5154756240, 4

Question Number : 35 Question Id : 6154751626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOAZT GaTdd FEFAT T T 31 30 UF = 901 =9 27

(1) T2 A =9 4gf]
(2) 22 3 Tg= T
(3) 1= aW = O

(4) T2 39 T2 qur

Options:

6154756337, 1
6154756338 2
5154756339 2
5154756340, 4

Question Number : 36 Question Id : 6154751627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Government of India has set up the Ministrv of Jal Shakti by merging/renaming whic

of the following :

(1) Ministry of Water Resources and Minmiztry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Gang

Rejuvenation: and Ministry of Rural Development

(3) Ministry of Water Resources: Ministryv of River Development and Gang

Eejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154756341, 1
6154756342 2
6154756343 3
£154756344 4

Question Number : 36 Question Id : 6154751627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) <ol HETgH AT 3R gl a9 e

(2) I WEES AT A9 T i T S g 9 g e T

(3) I GETYE 9T T30 g 3 T e e 997 y9ed A Eead) 59
(4) A TETEE GAAT

Options:
6154756341 1

B154756342. 2
B154756343. 3
51547562344 4

Question Number : 37 Question Id : 6154751628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identifv environmental 1ssues which are loeal 1n nature :

(11 Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(iv) Climate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (111). (v) and (v1) (2) (). (1v). (v) and (v1)
(3) (11). (111). (%) and (V) (4) (1). (11). (111) and (1v)
Options:

£154756345 1
Bl54756346. 2
5154756247, 3
51547563458, 4

Question Number : 37 Question Id : 6154751628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) FTHE WA T 40
(1)  FH= 5w
(iil) Y&

(iv)  Foa™ Tiddd
(v)  FAaHE
(vi) 3 I39EE gd9d

= fou U fawedi O O OE 3 W = FihE0

(1) (ii). (iii). (v) 37 (v1) (2)  (iii). (iv). (v} 3T (vi)

(3) (i1}, (iii). (iv) 3T (v) (4) (1) (i1). (ii1) 3 (1)
Options:
6154756345,
6154756346,

E15475E347.
E15475EZ4E.

[ Y

Question Number : 38 Question Id : 6154751629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action fi
Sustainable Development?

(1) Stockholm Conference (2) Rio de Janeiro Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

B15475623459 1
6154756350, 2
5154756351, 3
5154756352 4

Question Number : 38 Question Id : 6154751629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafaa o O Fra oo Ty Ouie /g e o gurfi fasm S wriEn (9 A0 e T
A SAATHE ) Tl ATE T

(1)  TiFem FiFE @) for f2 e =56
(3) ATEHE HiHZ (4) 3TEHEERE FIET
Options:

5154756349 1
E154756350. 2
5154756351, 3
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6154756352, 4 'repp
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Question Number : 39 Question Id : 6154751630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following indicates the objective of the United Nations Framework Conventio
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emissions for individual countries

{3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

B154756353. 1
5154756354 2
5154756355, 3
5154756356, 4

Question Number : 39 Question Id : 6154751630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
efafad 3 O FH-T1 94 7209 Soard THadd BHas 99 (3 09 UF o @ 1) % 3599 F aEn
27

(1) FHea § 07 7em A F w1 gede
(2) T e fosm =g WA Eeh W SeEeA W dmn Faiia #n
(3)  Hadd 99 TIYT FAT

Options:

6154756353 1
6154756354 2
6154756355 3
6154756356 4

Question Number : 40 Question Id : 6154751631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging worldwide awareness and action for the protection of our environmen
UNEP focused on the World Environment Dayv (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

51547568357, 1
6154756358, 2
5154756359, 3
E154756360. 4
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Question Number : 40 Question Id : 6154751631 Question Type: MCQ Option Shuffling: No Display Question Nurilyer so\sege
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FON TR F WA &g [vasardl SnEwar 3 wHRan i Uiedted F & 4 UF £ 1§ HefatEd b
=g faw= =% 9fd fava 7@ feag (2019) * 9@ ® =0 537

(1) Al ST (2) <@l AT A WA F FA HEed F
AT

(3) AT TG #i HAH (4) T g

Options:

B154756357. 1
5154756358, 2
5154756359, 3
5154756360, 4

Question Number : 41 Question Id : 6154751632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Ancient Indian University known as the chief centre for advanced and specialize
studies 1n Nyvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4)  Valabhi University
Options:

B154756361. 1
6154756362, 2
5154756363, 3
5154756364 4

Question Number : 41 Question Id : 6154751632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ffafgs § 4 g W= 9 fTvafaem =1 = o oF e 8 39 AW AEE e F g 3
F B9 H 96 A@1 27

(1)  <ee favataeme (2) oty favatraes
(3)  riean fAvaEiaEnag (4) @l favataemem
Options:

5154756361, 1
6154756362, 2
6154756363, 3
5154756364 4

Question Number : 42 Question Id : 6154751633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which 1tems 1n the following constitute the non-conventional learning pl‘ﬁgl‘amﬁggpp

(1) Tea sommelier

(1) Omental languages
(111) Spa management
(1v) Museoclogy

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (1. (111) and ()
(3) (1). (111) and (1v) (4) (11). (1v) and (v)
Options:

5154756365, 1
6154756366, 2
6154756367, 3
5154756368 4

Question Number : 42 Question Id : 6154751633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aleigd § ¥ #H ¥ 98 TW-IRAF A FEHE F 9F 2 7
(i) 21 e
(11) =4 9
(iii) T gEE
(iv) HUeEE-Tage
(v)  goHTeH® 9

efeiigd el § T 7 370 94 .

(1) (1), (i1) 3 @Gv) (2)  (i1), (ii1) 3T (v)
(3) (1), (iii) 3T (iv) (4) (i) (iv) 310 (v)
Options:

5154756365, 1
5154756366, 2
B1547563E7. 3
£154756368. 4

Question Number : 43 Question Id : 6154751634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which one of the following 1s a non-statutory body? 'repp

Your Personal Exams Guide

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Acereditation Council (NAAC)
Options:
6154756369 1
154756370 2
E15475EE71. 2
£l5475E372 4

Question Number : 43 Question Id : 6154751634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ¥ Aeawsh foren aiwg (v = A 3)

(2)  ERAE 3faEaE qimg (3 @ )

(3)  9WAE HaE TEg (9 o 3

(4)  TEHE geATsRA AR YA 9iEE (UH U )
Options:
6154756369, 1
6154756370, 2

5154756371, 3
5154756372 4

Question Number : 44 Question Id : 6154751635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of voga 1n teacher trainir
courses?

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Policy — 2019

Options:

6154756373 1

6154756374 2

6154756375 3

154756276 4

Question Number : 44 Question Id : 6154751635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AATTH- TS50 TE=A1 § A0 F] A 4 H1 Heiad § 3 F4 31 J14970 27 PrePP
(1)  TEg e fifd-1968

(2) T e Hifd-1986

(3)  9Rd H A=A e 4 gfasy iy, quEmen iR fafEme aide-2012

(4)  TEE e Hifd-2019 1 W=

Options:

6154756373, 1

6154756374, 2

B154756375. 3
B154756376. 4

Question Number : 45 Question Id : 6154751636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Highe
Education :

(i) Autonomy for top colleges

(i1) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given helow :

(1) (1), (i) and (ii1) (2) (1), (111) and (1v)
(3) (1i1), (iv) and (v) (4) (v), (1) and (i1)
Options:

B154756377. 1
B154756378. 2
6154756379 3
5154756380, 4

Question Number : 45 Question Id : 6154751636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3= Torem g 4 gafaa Fifa s = & oy =1 vz 18 i gg=3m =1

(1) I Tl S =T
(i)  Taf=ms 93 1 gan
(111) TS 3 s R e _'er:_lii =i 7zfa 1 gremn

(iv) 9 T # HUA
(v)  TEE g 9idEE

FefAREd a1 § O A9 39 94

(1) (1), (1) 3T (1i1) (2) (i), (i) 3T {@v)
(3) (ii1). (iv) 3T (v) (4)  ({1v). (1) 37T (iD)
Options:

5154756377, 1
51547568378, 2
5154756379 3
B154756380. 4

Sub-Section Number: 4
Sub-Section 1d: 61547576
Question Shuffling Allowed : Yes

prepp

Your Personal Exams Guide

Question Id : 6154751637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (46 to 50)
Cuestion Lake] Comprehension

For questions (46-50) :

Read the passage carefully and answer questions that follow :

Political representation’ nonetheless is the vehicle that enabled the re-introduction of
“democracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of politics and theory, it was wedded to representation — so that what
we call a democracy is, in fact, a distinetive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands inte the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154751638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Which of the following 1implies the characteristic of modern political *.'ernaculal"repp
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(1) Populist politics (2)  Absence of structure
(3) Ethical discourse (4) Representiveness
Options:

B154756381. 1
5154756382, 2
5154756383, 3
5154756354 4

Question Number : 47 Question Id : 6154751639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154756385, 1
6154756386, 2
5154756387, 3
E154756388. 4

Question Number : 48 Question Id : 6154751640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political reprezentatives manifest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

5154756389, 1
5154756330, 2
B154756391. 3
B154756392. 4

Question Number : 49 Question Id : 6154751641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical pohitics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

B154756393. 1
B1547565394. 2
51547563595, 3
51547563596, 4
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Question Number : 50 Question Id : 6154751642 Question Type: MCQ Option Shuffling : No Display Question r\'ﬂepﬁ
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

6154756397 1

6154756395 2

6154756399 3

154756400 4

Question Id : 6154751637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Lalbel . Comprehension

999 46 T 50

gz TeHitaE wiaHgE TE 91 2 T9EE T, S, TS 1 5 99 § CdAmad &
TH: WTaWEd T9F 21| TRUTH 2R Ahdd UeAed: WIHH UHE F dhad 8 W A2 89 21 A I F 6
araa T U F@ T A1 A A F Uadiad J1 A0 T SR T o1 3 S T8 96 T

sit g =1 %=z =1, 91 3 wfattaes 92 mn- T 29 Sedd Fed 2, 9 a9 T S e
- “YAFSATH® AFdT” FaiE HaiEd d7 g F 2aE WiEd ®9 4 O9HidE 99d Sl 8

GiAMHTET + = AFAEE AT 1 THITG% ATgFR O 900d #3423 Wb 90 9] 2d 2
Al JaTA H TeHIaF =01z 1 Sg@l of % (oY 20 SiaHeachs S T S| w0 8l T
ATAFA Fa FE WA = 1 Fe 1 F2d 2, 1 A1 T 3=81E 4 20 gE=d qfaws § 12
ST 21 1 Faetra 7 e e 2 - v i fafa ® fown g v m g o A 2 v
gfdffaed #4dl 2 A7 A8 @l AR & FEl i F9 aautaEteE # fafas st e 8 5 3

Sub questions

Question Number : 46 Question Id : 6154751638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefcfad § 4 fwad g Teiias Soi a1 e Higd 27

(1)  AEoErEd T (2) TI=AT F1 A9E
(3) i foms (4) SfAHETTRA
Options:

5154756381, 1
6154756382 2
5154756382, 3
B154756384. 4
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Question Number : 47 Question Id : 6154751639 Question Type: MCQ Option Shuffling : No Display Question r\'ﬂepﬁ
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T SidHT = FRo a0 8 B 1 359 707
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(1)  U9H F1 A%ad (2) I Ads
(3)  ANAEE ATFAT (4) Tgias Aad
Options:

5154756385 1
B154756386. 2
B154756387. 3
5154756388, 4

Question Number : 48 Question Id : 6154751640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T0 AT F AN TSI T e 1 597 27

(1) TAA1Td% T=areTT (2) FIHWHE T 591G
(3)  IHIG® WE (4) 3TcH-TaeH =9der
Options:

B154756389. 1
515475623590, 2
5154756391, 3
51547563392 4

Question Number : 49 Question Id : 6154751641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
EF F TET AT o I F1 5 =9 0 51 9 27

(1) ifq i T (2) SlaHTae $1 s=ar
(3)  WAHATHF UFT (4) B A0 F fa=EE R WM Y5E A
Options:

51547563392 1
B1547563594. 2
5154756395 3
51547563596, 4

Question Number : 50 Question Id : 6154751642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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TS Aehad & Jad § o7@s 51 71 [J90 27

(1) IEICERC L IGED
(2) OEYE 9rfer]
(3) IO AT

(4)  F@ ACHA F w19 T B F1 F 00

Options:

6154756397, 1
6154756398 2
£154756399 2
5154756400, 4

prepp
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PART II Forensic Science

Section 1d : 61547524
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 61547577
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154751643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The flash point of typical standard diesel 1s:

(1)  10°C - 20°C (2) 35°C - 40°C
(3) 60°C - 85°C (4) 110°C - 145°C
Options:

£154756401. 1
B154756402. 2
5154756403, 3
5154756404, 4

Question Number : 51 Question Id : 6154751643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10°C - 20°C (2) 35°C-40°C
(3) 60°C - 85°C (4) 110°C - 145°C

Options:

5154756401, 1
5154756402 2
B1547564032. 3
5154756404, 4

Question Number : 52 Question Id : 6154751644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Neutron activation analysis detects the presence of following in G.S.R

(1) Antimony and lead (2) Antimony and barium
(3) Barium and nmitrites (4) Antimony and nitrites
Options:

5154756405, 1
5154756406, 2
5154756407, 3
£154756408. 4

Question Number : 52 Question Id : 6154751644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=2 AFIAT e g S vEsn 4 = fetan § @ 6 = sufeata = 9 e 2 7

(1)  oZmt =i e (2) TfzET ¥R wfEm
(3) sy i A Tl L (4) T"EZTI_'!&[ A Algdized
Options:

5154756405 1
5154756406, 2
5154756407, 3
5154756408, 4

Question Number : 53 Question Id : 6154751645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. : 4 . pre
Iron-tanin ink gave a blue colour to the line of writing due to the presence of mgggm e;g;[t
turned black after some time because.

(1) Indigo dye got oxidized
(2) Iron-tanin components got oxidized

(3) Indigo dye got reduced

(4) Iron-tanin component got reduced

Options:

6154756409, 1
6154756410 2
5154756411 2
6154756412, 4

Question Number : 53 Question Id : 6154751645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-2 STE § AEEEl T F THF % A0 oHa 1 U a0 A w5 | F9 599 9 it
-'.;'l' '\:f-'I"- ;.'f,. E FIERUE? R PE | B = ie | i

(1) SATEAT T T ATHHFT & T
(2)  TE-2HA TEeE SEEd & T

(3) ATEATT — T T35 91 99001 & 0

(4)  FE-2E gH2F = AT 7 T

Options:

5154756409, 1
6154756410 2
5154756411, 2
5154756412 4

Question Number : 54 Question Id : 6154751646 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The direction of stroke of ball-point pen lines can be determined by examining

(1) Gooping (2) Burr strations
(3) Hiatus (4) Escapement
Options:

5154756413 1
5154756414 2
5154756415 3
5154756416 4

Question Number : 54 Question Id : 6154751646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 2 WrongMarks: 0 'repp
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(1) T (2) = e
(3)  =wmew (fa=ia) (4) vERTHe (HTEA)
Options:

5154756412 1
5154756414 2
£154756415 3
B154756416. 4

Question Number : 55 Question Id : 6154751647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which type of identification mark (Serial number) on metal surface cannot be restored afte

obliteration?

(1) Cast marks (2) Engraved marks

(3) Punched marks (4) over stamped marks
Options:

5154756417, 1
B1547564158. 2
£154756413. 3
5154756420, 4

Question Number : 55 Question Id : 6154751647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aTfear® de T =g B ° E Uea fHEd i e WE h 9 HeEie qai A S Sl 2 7

(1) oa fam (2) ki o
(3) 7= TEEA (4) w7z fom
Options:

B154756417. 1
5154756418 2
5154756419 3
5154756420, 4

Question Number : 56 Question Id : 6154751648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Diphenyl Amine Reagent (DPA) used for identification of explosive 1= prepared bggl;gag,lgn
lgm of diphenylamine 1n 100 ml of which of the following

(1) Concentrated nitric acid (2) Concentrated hydrochloric acid
(3) Concentrated sulphuric acid (4) Concentrated Acetic acid
Options:

B154756421. 1
6154756422 2
5154756423, 3
5154756424 4

Question Number : 56 Question Id : 6154751648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faewe® Al i 9F=e F o sEfEane vaEs fose (S 9 u) fereatae 8 7 e 100 e

T | 1 W STSrREATS e ® g A 2l

(1) i ATsfes s (2) HIiZd EESHATRE 75
(3) Tz A-HRS T (4) Hifza ofals s
Options:

B154756421. 1
B154756422 2
5154756423 3
5154756424, 4

Question Number : 57 Question Id : 6154751649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which amino acid 1s present in hair medullar protein that i1s usually not a component o

proteins?

(1) Glycine (2) Citrulline

(3) Cystine (4) Proline
Options:

5154756425 1
6154756426, 2
5154756427, 3
B154756425. 4

Question Number : 57 Question Id : 6154751649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  T=mEEE (2) TagEs
(3) fa=m (4) T=E
Options:

5154756425 1
5154756426 2
5154756427, 3
5154756425 4

Question Number : 58 Question Id : 6154751650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The inert ingredient in aluminum phosphide tablet which prevents self 1gnition of phosphine

gas 1S :

(1) Ammonium carbamate (2) Sodium chlorate

(3) Potassium chloride (4) Diphenyl amine
Options:

51547564259 1
5154756430, 2
51547564321, 3
B154756432. 4

Question Number : 58 Question Id : 6154751650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"

TR FEEES Ja0e A Hied AT (g FEEnE 16 H = EE J fAaww w2 R

(1) AT FTEHe @) Tt T
(3)  TiIfvEm FEs T —
Options:

B154756429 1
5154756430, 2
5154756451, 3
5154756432 4

Question Number : 59 Question Id : 6154751651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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The process of reading or interpreting the effaced or illegible writings is: 'r e,pmpd
(1) restoration (2) obliteration
(3) decipherment (4) sphicing

Options:

5154756453 1
5154756424 2
5154756435, 3
B154756436. 4

Question Number : 59 Question Id : 6154751651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

20 0 379 ST9SAE ©ET % 934 41 fHaea F v 2

(1) = (2) =9
(3) A (4) [ = S
Options:

5154756453 1
5154756454 =
5154756435, 3
E154756456. 4

Question Number : 60 Question Id : 6154751652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The coefficient of reduction or form factor 1s calculated by the formula
(1) % gt® (Where ‘g’ is the acceleration due to gravity and ‘t’ is the time taken)

(2) Av" (Where ‘A’ and 'n’ are constants and v’ 1s the velocity of the projectile)

(3) W/d®> (Where ‘W' is the weight of the projectile and ‘d’ is the eross-sectional
diameter)

[dr -1

(4) 11.|'

(Where 1" 1s the originial radius (in calibres) of the projectile)

Options:

6154756437, 1
£154756438. 2
5154756439 2
5154756440, 4

Question Number : 60 Question Id : 6154751652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 . T 5 T - 2 = . =
(1) ngz (=T “g’ TECATRET F AT A B ARt o 99F §)

(2)  AV" (S A v n R 2 SR nE A v 2

3y  W/d® (% ‘W 9&8TF % 951 7 3 ‘'d SR = 2)

|I4II"‘—1
f

i

(4) (ST&T v W&ETF 1 AT 1599 2 (il ) )

Options:

6154756437, 1
6154756438 2
£154756439 2
5154756440 4

Question Number : 61 Question Id : 6154751653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Chronic poisoning due to lead 1s known as

(1) Saturnism (2) Arsenicosis
(3) Ptyalism (4) Hydrargyrism
Options:

E154756441. 1
Bl54756442 2
5154756442 3
5154756444 4

Question Number : 61 Question Id : 6154751653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT % R0 TATHTeTh (e 0] =l 91 E51 & Sl 2 7

(1)  H2F (2)  STEHFIGE
(3) A=A (4) FEgTIERE
Options:

5154756441, 1
B154756442 2
5154756442 3
5154756444 4

Question Number : 62 Question Id : 6154751654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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- — PISEP,
The time taken by an unretained species to pass through a -:hrmnatograph_u!gg !
known as

(1) retention time (2) lag time
(3) flow time (4) void time
Options:

£154756445 1
B15475644E. 2
5154756447, 3
5154756445, 4

Question Number : 62 Question Id : 6154751654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el sufaeniea wofa grr wEemThl =Y W S A § SIdid WA R HEengd 3 5 g w25 o Sl

L

¢

ik

(1)  wfaamro = (2) TT=TEA T
(3) T4l Fle (4) I FT
Options:

5154756445 1
515475644E. 2
5154756447, 3
£15475644E8. 4

Question Number : 63 Question Id : 6154751655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which human DNA quantitation standard was released by NIST for use in forensic

laboratories in 20077

(1) SRM 2372 (2) SRM 2513
(3) SRM 2317 (4) SERM 2732
Options:

5154756449 1
5154756450, 2
5154756451, 3
B154756452. 4

Question Number : 63 Question Id : 6154751655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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NIST (u= %72 vg 21) 4 2007 § $HEF TIEm=naAT § 990 F 0 F9 9 96 31 U9 U Qe

AT T 977

(1) g AT e 2372 (2) vg W uH 2513

(3) TH AR TH 2317 (4) ©H :AT TH 2732
Options:

5154756445 1
51547568450, 2
5154756451, 3
B154756452. 4

Question Number : 64 Question Id : 6154751656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Obliterations can be deciphered by taking photographs using

(1) IR radiations (2) UV radiations
(3) X-ray radiations {(4) Visible radiations
Options:

B154756452. 1
B154756454 2
5154756455, 3
5154756456, 4

Question Number : 64 Question Id : 6154751656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) v f i (2) T R
(3)  Uam 1 fat (4) TvIaE A
Options:

5154756453 1
5154756454 2
5154756455, 3
5154756456, 4

Question Number : 65 Question Id : 6154751657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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The percussion-lock firearms were discovered by 'relpmpd
(1) Friar Bacon (2) Lous XIV
(3) James Forsythe (4) Schoenbein

Options:

B154756457. 1
5154756458, 2
5154756459 3
5154756460, 4

Question Number : 65 Question Id : 6154751657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TG —FTF TOTA] AT FT ANGHR HARAad § o e grr e e

(1) 7 = (2) <=9 wieEar
(3) =T EEEY (4) TEAEE
Options:

B154756457. 1
£154756458. 2
5154756459 3
5154756480, 4

Question Number : 66 Question Id : 6154751658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Toner type. toner fusion. splattering effect and drum defect marks are used to examine
following type of document

(1) Inkjet printed document (2) Intaglio printed document
(3) Laser printed document (4) Dot-matrix printed document
Options:

5154756461, 1
5154756462, 2
B1547564E2. 3
E154756464. 4

Question Number : 66 Question Id : 6154751658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options: 'repp

5154756461, 1 Your Personal Exams Guide
6154756462 2
5154756462, 3
E154756464. 4

Question Number : 67 Question Id : 6154751659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following component of fingerprint residue reacts with silver mitrate to malke

latent fingerprints visible?

(1) Chloride 1ons (2)  Amino acids
(3) Water {(4) Glycols
Options:

£1547564E65. 1
5154756466, 2
5154756467, 3
5154756468, 4

Question Number : 67 Question Id : 6154751659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=g R 8 T Z9EHE S % A0 saEe dFee F e gues i fTem gz F oy uhaE

o

(1) FANIES AT (2) Ui a7
(3 == (4) TelSHIE
Options:

£1547564E65. 1
51547564dEE. 2
5154756467, 3
5154756468, 4

Question Number : 68 Question Id : 6154751660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Presence of phalomelanin hair pigments give hair

(1) Black colour (2) Reddish colour
(3) Brown colour (4) Whatish colour
Options:

5154756469 1
B154756470 2
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Question Number : 68 Question Id : 6154751660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SeAHE A =H1 2= % 9| B % Solia=q =9 & 9ul eAfeigd 5 ° #4977 Fdq1 7

(1) hledl (2) <
(3) U (4) v
Options:

B154756469. 1
B154756470. 2
51547568471, 3
5154756472 4

Question Number : 69 Question Id : 6154751661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hot stage microscope 1s used in forensic examination of glass to measure

(1) Density (2) Heat resistance
(3) Refractive index (4) Durabihity
Options:

5154756473 1
B154756474. 2
£154756475. 3
5154756476, 4

Question Number : 69 Question Id : 6154751661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ofi71  BRIEE T 4 TR a2 1 S % 0 22 TN gEEETl 79 T ST Bl A

(1) BRI (2) =M™ giey wiE
(3)  ZAEdl gEEE (4) =aifrea
Options:

51547568473 1
E1547564d74 2
E1547EE4FE =2
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Question Number : 70 Question Id : 6154751662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pin fire cartridges have

(1) A pin with one end protruding out of the cartridege and the other end 1s located close
to the primer mixture inside the cartridge

(2) Primer mixture 1s compressed in the rim
(3) Primer mixture compressed 1n the percussion cap fitted in the center of the base of
the cartridge

(4) A pin 1s the part of the mechamism. which strikes the primer mixture of the cartrdge

Options:

6154756477, 1
6154756478 2
6154756479 2
5154756420, 4

Question Number : 70 Question Id : 6154751662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) =AY FEGE F Us ° U g e § wditsd e A
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Options:

6154756477 1
5154756478, 2
6154756479, 2
6154756480, 4

Question Number : 71 Question Id : 6154751663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Data can be retrieved from a mobile device by using which software

(1) Q- Pass- Analyzer (2) Pass-Analyzer forensic
(3) Oxygen forensic suite (4) Doc-center forensic
Options:

B154756481. 1
B1547564d82. 2
5154756453, 3
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Question Number : 71 Question Id : 6154751663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i g|Ea 9 9 FEEE -Jﬂg:r;mdr.{:iiumn-ﬂﬁﬁf—n?m]ﬁr fefiag 9 o T&FE AiF2a=8 =1 790 R =T 7

() -7 T (2) TS B
(3)  STFErET REE T30 (4) =F HeT FHIEE
Options:

B154756451. 1
5154756482, 2
5154756483, 3
5154756454 4

Question Number : 72 Question Id : 6154751664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

P 300 1s generated during random presentation of a different stimulus along with frequen
repeated presentation of same stimul in case of

(1) Brain finger printing (2) Lie detection
(3) DNA finger printing (4) Narco analysis
Options:

5154756485, 1
5154756486, 2
5154756457, 3
B154756488. 4

Question Number : 72 Question Id : 6154751664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =9 fFm ke (2) s fE2a
(3) =1 U9 U R i (4) AT TS
Options:

5154756485, 1
51547564586, 2
B154756487. 3
5154756458, 4

Question Number : 73 Question Id : 6154751665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Family Silphidae insects are forensically important and they belong to the order 'repp

Your Personal Exams Guide

(1) Diptera (2) Lepidoptera
(3) Coleoptera (4) Hymenoptera
Options:

5154756459 1
5154756430, 2
5154756431, 3
B1547564592. 4

Question Number : 73 Question Id : 6154751665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=T e A 2 B e s iz afew frefataa § @ e o @ wetE 2

[ N, B o

(1) fz=u (2) =TT
(3) =T (4) ETEEATET
Options:

515475684559 1
5154756430, 2
51547564391, 3
B1547564592. 4

Question Number : 74 Question Id : 6154751666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statement depicts foot print ratio correctly?

(1) Heel length/ maximum foot length

(2) Maximum foot width/ maximum foot length

(3) Maximum foot width/ maximum toe length

(4) Maximum foot length/ maximum foot width
Options:

5154756432 1
E154756494 2
£154756495. 3
5154756456, 4

Question Number : 74 Question Id : 6154751666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) v 1 =& /12 =m0 F1 afasdg Far
(2) U= = T AfEag St/ T== i Afaas Fe

(4) g = i AfGHTH =S /U8 = i O =S

Options:

6154756492 1
6154756494 2
6154756495 3
£154756496 4

Question Number : 75 Question Id : 6154751667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Flax fiber 1s derived from plants. The part of plant 1s

(1) Seed (2) Stem
(3) Leaf {4) Root
Options:

5154756437, 1
B1547564598. 2
£154756493. 3
5154756500, 4

Question Number : 75 Question Id : 6154751667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

el 191 UtY % TR am o e B 2 7
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(1) EIE (2) =
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Options:

5154756437, 1
5154756438, 2
5154756499 3
£154756500. 4

Question Number : 76 Question Id : 6154751668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Varnish 1s traditionally a combination of drying oil, a resin and a... 'r e,pmpd
(1) Lacquer (2) Enamel
(3) Metal ink (4) Thinner

Options:

5154756501, 1
B154756502. 2
B154756503. 3
5154756504, 4

Question Number : 76 Question Id : 6154751668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

URYTER 9 § 9 A e dd, fE qw Tt =T ®
(1) o= (=) (2) TS

(3)  H S (i ) (4 Tom (7 z)
Options:

5154756501, 1
B154756502. 2
B154/756503. 3
5154756504 4

Question Number : 77 Question Id : 6154751669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pitch of male human speech sound ranges between

(1) 90-140 Hz (2) 120-190 Hz
(3) 70-100 Hz (4) 80-150 Hz
Options:

5154756505, 1
6154756506, 2
6154756507, 3
5154756508, 4

Question Number : 77 Question Id : 6154751669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

prepp

ey ] =k =Y anar Higy et 3 9 e ae w27 « v
(1) 90 =25 & 140 == (2) 120 =25 5 190 ===

(3) 70 =& ¥ 100 7= (4) 80 =27 @ 150 727

Options:

5154756505, 1
61547568506, 2
5154756507, 3
B154756508. 4

Question Number : 78 Question Id : 6154751670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a suicide case, pistol was found tightly gripped in hand. This 1s suggestive of which of th
following condition

(1) Rigor mortis (2) Hypostasis
(3) Algor mortis (4) Cadaveric spasm
Options:

B154756509. 1
B154/756510. 2
5154756511, 3
5154756512 4

Question Number : 78 Question Id : 6154751670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AWEeT F UF HI9A ® (e 519 ¥ Sl d UHdl 5F R 5| 9% Fefafad § o e e e
EITRT FiAl 29

(1) 94 F==3 (2) THF TF
(3)  HoATHIA Weiad (4) FSHEHEF T3
Options:

B154756509. 1
5154756510, 2
5154756511, 3
5154756512 4

Question Number : 79 Question Id : 6154751671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ABI prism 310 genetic analyzers use POP-4 and POP-6 for capillary elec%&fm& 18.
POP stands for:

(1) Phenol optimized polymer
(2) Performance optimized polymer
(3) Polyvacrylamide optimized polymer

(4) Pyrolysis optimized polymer

Options:

6154756512 1
6154756514 2
6154756515 3
£154756516. 4

Question Number : 79 Question Id : 6154751671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ABI 7759 310 a0+ f9vciy® F9id 999 F0 T9od & 00 9ed-4 30 H2d-6 = 7@ w4 &
qr_\[._'- ﬂl. [ r;- [ : _;:l__‘q [ fr HT;_;:.F_

(1) T~ AT ATETS TTeATH

{2) -'I':F'lwﬁq :ﬂ--_":fqb&':. 'ﬁﬂ '\EH

(3)  Ticll UHIEAMES ATLHES TATHL
(4)  UEUETEEE AT EESS T
Options:

5154758513, 1

6154756514, 2

5154756515, 3
B154756516. 4

Question Number : 80 Question Id : 6154751672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Hybridoma 1s a fused cell resulting from the fusion of

(1) Antibody and antigen
(2) Erythrocytes and natural killer cells

(3) Leucocytes and monocytes
(4) Plasma cells of spleen and myeloma
Options:

5154756517, 1
B154756518. 2
B154/756519. 3
5154756520, 4
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Question Number : 80 Question Id : 6154751672 Question Type: MCQ Option Shuffling: No Display Question Nurilyer se\ege
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) TAHETE] U A
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(3)  Teidida=Yl U9 HIAl 9152

(4)  Toeell vd HET=y o g FiE
Options:
E15475E517. 1
5154756518 2
5154756519 =
5154756520 4

Question Number : 81 Question Id : 6154751673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Legal limit of blood alcohel levels for driving in India as prescribed by Motor Vehicle Act. 198

15:

(1) 50 mg per 100 ml of blood (2) 60 mg per 100 ml of blood

(3) 30 mg per 100 ml of blood (4) 80 mg per 100 ml of blood
Options:

B154756521. 1
B154756522. 2
5154756523, 3
5154756524, 4

Question Number : 81 Question Id : 6154751673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
- AMGHTE 1988 % FaR A4 | 9 9ieH % 999 T ° Uehiae i aAfahan a9 e #=r 2 7

(1) 50T\, g 100 fueft =4 (2) 60 T\, wid 100 foef ==
(3) 30 M., wE 100 fo=f == (4) 80 T8, ufF 100 fo=h ==
Options:

B154756521. 1
61547568522 2
61547568523, 3
5154756524 4

Question Number : 82 Question Id : 6154751674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

Fuse bomb used for the distruction of enemy property generally contains intiating!&’g&p

Your Personal Exams Guide

(1) Detonator (2) Detonating cord
(3) Saftey fuse (4) DBooster
Options:

B154756525. 1
5154756526, 2
61547568527, 3
5154756528, 4

Question Number : 82 Question Id : 6154751674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I WU I TREH % (o0 TN R S AT TS 99 H AW A W Edeh AEE B B, 39 9 Fed B 7

(1) =2z (2) =M Fis
(3) HEI TSI (4) T=
Options:

B154756525. 1
5154756526, 2
61547568527, 3
5154756528, 4

Question Number : 83 Question Id : 6154751675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following type of 1mages store graphic information 1n a grid of individual pixels?

(1) Vector (2) Raster
(3) Bitmap (4) Metafiles
Options:

5154756529 1
E154756530. 2
B154756521. 3
5154756532, 4

Question Number : 83 Question Id : 6154751675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) faedg (4) TETEEeA

Options:
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6154756529, 1 'repp

6154?5653[:' 2 Your Personal Exams Guide
51547565351, 3
615475685352 4

Question Number : 84 Question Id : 6154751676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s a defimite sign of death due to drowning

(1) Washerman's hand's and feet
(2) Presence of diatoms 1n bone marrow
(3) Absence of sand and mud in mouth and nostrils

(4) Absence of lathery froth in mouth and nostrils

Options:

6154756532 1
6154756534 2
6154756535 3
154756536 4

Question Number : 84 Question Id : 6154751676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A o =M AT geg = W TeEe = A

(1) sl = 7190 AW 90 % wHE
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(3) T 3 AR q 11 R fagl i smefoata
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Options:

6154756532 1
6154756534 2
6154756535 3
154756536 4

Question Number : 85 Question Id : 6154751677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In histological section of teeth. enamel shows incremental lines which are known as

(1) Gingival fiber strmations (2) Striae of Retzius
(3) Lines of Owen (4) Hunter Schreger bands
Options:

E15475E537. 1
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£154756538. 2 'repp

E- 1 54?56539 3 Your Personal Exams Guide
5154756540, 4

Question Number : 85 Question Id : 6154751677 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

27 % FaF (91 @Us § A2 TANE 9 I Sedl 52 (@ @ Isdl & 91 56 fetenad § 5 94 #
AT A7

(1)  T=sas wEe U (2) U ATF i

(3) =z ATE HAEH (4) T That §3H

Options:

5154756537, 1
5154756538, 2
5154756539, 3
5154756540, 4

Question Number : 86 Question Id : 6154751678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Vowels are produced during speech by modifying the shape of the supra laryvngeal voeal tract
n :

(1) Presegmental ways (2) Segmental ways
(3) Radical ways (4) Non-radical ways
Options:

5154756541, 1
5154756542 2
5154756543, 3
B154756544. 4

Question Number : 86 Question Id : 6154751678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TS ATF A i ATHA B ITARA T AR 3 | o ate § = S e e 27

(1) 74 @vsE aiF 3 (2) @vEE aE
(3)  Hifeh Ak (4) TR qiE o
Options:

5154756541, 1
5154756542 2
B154756543. 3
5154756544 4
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Question Number : 87 Question Id : 6154751679 Question Type: MCQ Option Shuffling: No Display Question

SingleLine Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following program 1s run to examine network traffic

(1) Net dump (2) TCP dump
(3) Slack dump (4) Core dump
Options:

5154756545, 1
5154756546, 2
5154756547, 3
B15475654E8. 4

Hepp
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Question Number : 87 Question Id : 6154751679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

7T TETE % WIEY % fou fefeaiEd 8 9 9 91 T S T 2 7

(1)  Hz=9 (2) & i b =9
(3) T W (4) =r sy
Options:

B154756545 1
Bl15475654E. 2
5154756547, 3
5154756548, 4

Question Number : 88 Question Id : 6154751680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The forking of the tip of the bristle hair 1z a useful indicator for the family:

(1) Suidae (2) Fehdae
(3) Camdae (4) Bowidae
Options:

5154756549 1
5154756550, 2
B154756551. 3
B154756552. 4

Question Number : 88 Question Id : 6154751680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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prepp

(1 == ) s
3) e (@ =
Options:

5154756549 1
B154756550. 2
B154756551. 3
5154756552, 4

Question Number : 89 Question Id : 6154751681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which printing method results in the variation in the thickness of the ink deposited on th

paper:

(1) Letter press printing (2) Lathography
(3) Gravure (4) Sereen printing
Options:

5154756553 1
5154756554 2
B154756555. 3
5154756556, 4

Question Number : 89 Question Id : 6154751681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS i 50 Ughd | F0T9 T T8 T % 39R A aeed o7

(1) o2 3571 (1% 79 o) (2) Tren g (Sammh)
(3) S (T (4) A g (A fufe)
Options:

5154756553 1
6154756554 2
5154756555 3
E154756556. 4

Question Number : 90 Question Id : 6154751682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Forensic palynology is the study of which of the following 'r e,pmpd
(1) Polymer for forensic purpose
(2) Bite marks for forensic purpose

(3) Lipprints for forensic purpose

(4) Pollen grains for forensic purpose

Options:

6154756557 1
5154756558 2
5154756559, 2
6154756560, 4

Question Number : 90 Question Id : 6154751682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATATA e (=eiad 5 H 78 & 35999 &+ =0 27

(1) A EF T4 & HHd J5a®

(2)  =AEEEF TAET F A 2 e

(3) —AEEEE TEEA ® M A e
(4)  —EEEF T T R W

Options:

6154756557, 1
6154756558 2
6154756559 3
E154756560. 4

Question Number : 91 Question Id : 6154751683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Buckling 1z a characteristics feature of :

(1) Scalp hair (2) Limb hair
(3) Pubic hair (4) Eyebrow hair
Options:

B154756561. 1
6154756562, 2
6154756563, 3
5154756564 4

Question Number : 91 Question Id : 6154751683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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srfer Frferfiaa A Fre st o 27 prepp
(1)  ToEe= =3 (2) AT

(3)  Foaed F9 (4) Wi

Options:

B154756561. 1
6154756562, 2
6154756563, 3
5154756564 4

Question Number : 92 Question Id : 6154751684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Debriz materal collected from arson crime scence should be packed 1n

(1) Sealed paper bag (2) Plastic bag
(3) Cloth bag (4) Metal box with tight id
Options:

5154756565, 1
5154756566, 2
B1547565E7. 3
E154756568. 4

Question Number : 92 Question Id : 6154751684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ATTIA ST 3:{ E—I-'Frﬂ' 9 AT il ° ] rl:lﬁlrr_*l'. rIMEFI. & H 'Ir_ﬁ‘:ltl EREIE] TJlrl;_» T

(1) =0+ 95 499 1 (2) et i At |
(3) Fus i oA A (4) HEEA G S (R T g % S |
Options:

5154756565 1
E1547565E6. 2
B154756567. 3
5154756568, 4

Question Number : 93 Question Id : 6154751685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

An indentation mark 1s caused by a tool. when 1t 1s pressed upon a surface

(1) With continuous 1mpact of low angle 1n motion
(2) With non-continuous impact in motion
(3) With shding motion
(4) Without sliding motion
Options:
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154756570 2 Your Personal Exams Guide
2154756571, 2
15475572 4

Question Number : 93 Question Id : 6154751685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et me W Tt aftem g Pt ® o e von 59 3o 8@ Sq o Fifia w7
(1) = Ta9™ F W T F99 =

(2) A ¥ 3EEa 99 3

(3) T TEEEATEH

4y TomfFoemad

Options:

6154756560, 1
5154756570, 2
6154756571, 3
6154756572 4

Question Number : 94 Question Id : 6154751686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The term”stutter” band 1s usually used for DNA fragments that are

(1) One repeat unit shorter than the expected band
(2) Two repeat units shorter than the expected band
(3) Five repeat units longer than the expected band
(4) Three repeat umts longer than the expected band

Options:

61547565731
6154756574 2
6154756575 3
6154756576 4

Question Number : 94 Question Id : 6154751686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=1 U U @Sl % o0 g U UE el SUs gy § | i 27

(1) oo avs 7 o °§ o wgi o T
(2)  weATteE @vs i ger § 1 S Y T
(3) TG Avs o gEr ° Ui A AtgE w6 v

(4)  FERE sve #it geT | 99 egf s e v
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Options: 'repp

51547568573 1 Your Personal Exams Guide
6154756574 2
5154756575, 3
B154756576. 4

Question Number : 95 Question Id : 6154751687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Gerald Edelman and Rodney Porter shared a Nobel prize in 1972 for revealing the structur:

of

(1) Immunoglobulins (2) Immunogens

(3) Haemoglobin (4) Spermatozoa
Options:

B154756577. 1
B154756578. 2
5154756579, 3
5154756580, 4

Question Number : 95 Question Id : 6154751687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS TR 3T el uter # A 1972 4 Fefaiaa § 8 feeshl s % e # o auw
o ATEe R T T

e =

(1)  seErEEEE @) ToEr
(3)  FmweteE (4) TEEr=E
Options:

B154756577. 1
5154756578, 2
6154756579, 3
5154756580, 4

Question Number : 96 Question Id : 6154751688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following compression standards were recommended by NIST for fingerprints?

(1) Run length coding (2) Wavelet scalar quantization
(3) JPEG compression (4) Huffman coding
Options:

5154756581, 1
5154756582, 2
B154756582. 3
B154756584. 4
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Question Number : 96 Question Id : 6154751688 Question Type: MCQ Option Shuffling: No Display Question Nurilyer sesege
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ST Toe = o va e ww &1 o Feteiga 9 o 6 gdisT g = wegia =i ofi 7

(1) T =7y =i (2) =T TheR FEIZEIA
(3) =z A e (4) TEEF FIET
Options:

5154756581, 1
61547568582, 2
5154756583, 3
E154756584. 4

Question Number : 97 Question Id : 6154751689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Greenish brown staining of superficial veins was observed on the sides of abdomen and
thighs of a dead body. This condition 1s known as

(1) Marbling (2) Livor mortis
(3) Coloricity (4) Adipocere
Options:

B154756585. 1
5154756586, 2
61547568587, 3
5154756588, 4

Question Number : 97 Question Id : 6154751689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

o H o Ew A A B Y

(1) =Tt (2) wfer mifem
(3)  wHemiEEl (4) vfzgEPR
Options:

E154756585. 1
B154756586. 2
6154756587, 3
5154756588, 4

Question Number : 98 Question Id : 6154751690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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A defect in the type written document in which a character prints a double il]lpl!SESLRBIT
the lighter one shghtly offset to the right or left, 1s known as

(1) Off-1ts-feet (2) Rebound
(3) Offset printing (4) Type-face defects
Options:

51547568589, 1
51547568530, 2
51547565391, 3
B154756592. 4

Question Number : 98 Question Id : 6154751690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 ST ° SATaEE THEd [RET 35 1 2 H9E usd & 9 wee HeE gEit SAYeEr sl Sn 9
Hag 71 % : 38 Fetanad 3 5 e 55 4 A A

(1) TFE-T2a-F2 (2) TErss
(3)  ATEEz fOiEm (4) 7rE9-F4 feheem
Options:

B154756589. 1
5154756550, 2
51547565591, 3
5154756532, 4

Question Number : 99 Question Id : 6154751691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
During forensic examination of glass, the edge thickness can be measured by

(1) Spherometer (2) Micrometer
(3) Tapeko meter (4) Spectrophotometer
Options:

51547565393 1
51547565394 2
£1547565595. 3
£154756596. 4

Question Number : 99 Question Id : 6154751691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Fi= = =TS = % SO 91 ) 912 = 519 HeEngd § 9 E T8 9 1 6 —-mrrﬁf'repp
(1) o (2) HEEHE

(3)  ZUHEE (4) THFIFIZHZ

Options:

51547568532 1
51547565394 2
5154756555 3
E154756596. 4

Question Number : 100 Question Id : 6154751692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Darker of the crossing lines appears to be uppermost whether it 1s or not. This phenomeno:

1s known as

(1) Specular reflection (2) Fluorescence
(3) Optical 1llusion (4) Infrared luminescence
Options:

5154756537, 1
B154756559E8. 2
B154756599. 3
5154756600, 4

Question Number : 100 Question Id : 6154751692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

71 o T 9 smaa st el e gee S fGEnE od 2 ue g7 awga: B st 8| 39 i

~ P~ Ty by - o
= FARGT § | e A9 o 9l 2 7

(1) ST diaters (2) g
(3) TEIHH (4) =AaTF TAaEIa
Options:

51547568557, 1
51547565398, 2
5154756599, 3
E154756600. 4

Question Number : 101 Question Id : 6154751693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following antigen belong to Kell system 'repp
(a) Cote (by A2
(c) Ws (d) dJsa

Choose the correct-option

(1)  (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (a) and (d)
Options:

5154756601, 1
B154756602. 2
B154756603. 3
5154756604, 4

Question Number : 101 Question Id : 6154751693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TrTeTEd § | Fi 5 Wd9 el T A S R Y
(a) =iz (Cote) (b) ™2 (A2)
(©  =%9 5 (W5) (d) FTET (Jsa)

FT’?T T T?i_.r:il 1%

(1) (a) 3T (c) (2) (b) T (c)
(3)  (b) # (d) (4) (a) W (d)
Options:

E154756601. 1
B154/756602. 2
5154756603, 3
5154756604, 4

Question Number : 102 Question 1d : 6154751694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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If the mother and father both belong to "A” blood group. the possible blood gmupsﬁ{% gﬁ !pgng

are
(a) A (b) B
(c) AB (d O

Choose the correct option

(1) (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (a)and (d)
Options:

£154756605. 1
5154756606, 2
5154756607, 3
5154756608, 4

Question Number : 102 Question 1d : 6154751694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Afg T 3T FF 21 FT T TYE A’ E 91 Aafd H 9T 99 qYE w6

(a) A by B
(c) AB (d) O

HT-?I- a 'ql!"':! a.—."-:' .]_‘

(1) (a) 3 (o) (2) (b) # 7 (c)
(3)  (b) =W (d) (4) () W (d)
Options:

5154756605, 1
E154756E06, 2
B154/756607. 3
5154756608, 4

Question Number : 103 Question Id : 6154751695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s true for Duffy system?
(a) Controlled by two genes Jka and Jkb
(b) Consist of Fya and Fyb

(c) Discovered 1n 1950
(d) Discovered by Mann and associates

Choose the correct option

(1) (a) and (c) (2) (b)and (c)
(3) (b) and (d) (4) (a)and (d)
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Options: 'repp

5154756609, 1 Your Personal Exams Guide
6154756610, 2
5154756611, =
B154756612. 4

Question Number : 103 Question Id : 6154751695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=1 7 % F A Fefafan | A 9 A e w2
(a) = Jka ¥ Jkb THE o1 7 g FakE #
(b) zoH Fya 3T Fyb e 7

(c) =9 1950 5 8% 91 § T =el oA

(d) = 3 HEEER H 3EE @ A

(1)  (a) #7 (c) (2)  (b) #HE (c)
(3)  (b) #T (d) (4) (a) 3 (d)
Options:

5154756609, 1
5154756610, 2
B154756611. 3
B154756612. 4

Question Number : 104 Question Id : 6154751696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the two statements are true for “Stochastic effect”™?
(a) It happens when amplifing very low level of template DNA
(b) It holds true for homozygotic alleles

(c) It 1s relevant for one of the two alleles of a heterozygote that fail to be detected
(d) It holds true for large quantity of template DNA

Choose the correct option

(1) (a) and (b) (2) (c)and (d)
(3) (a) and (c) (4) (b) and (d)
Options:

£154756613. 1
5154756614 2
5154756615, 3
5154756616, 4

Question Number : 104 Question 1d : 6154751696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Your Personal Exams Guide

(a) =% A9 9ied =91 7, 99 Aead = S %6 S U9 U g ) Ueia g 7

(b) Tz TG e & A °H T B
() == Taum 3ftag =1 vefisll | 5 39 v & fow, wwavht 2, Tt v =4 = o 2
(d)  TE I UA U HE WS 460 % o w5 B

(1) (a) 37 (b) (@) () = (d)
(3) (a) # M (o) @ () (d)
Options:

5154756613 1
5154756614 2
5154756615, 3
5154756616, 4

Question Number : 105 Question Id : 6154751697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The field sobrety test performed by police officers. on the spot during drunken driving case
are

(a) Glabellar reflex (b) Horizontal gaze nystagmus
(c) Tonic labyrinthine reflex (d) Walk and turn

Choose the correct option

(1) (a) and (c) (2) (b) and (c)
(3) (d) and (a) (4) (b) and (d)
Options:

5154756617, 1
5154756618, 2
5154756619, 3
5154756620, 4

Question Number : 105 Question Id : 6154751697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Your Personal Exams Guide

(a)  ToEEE e (b) = Feoms
(©  =if st o (@) =e-SAR-gsi (I US =)

| m N [

(1) (a) 37 (c) (2) (b) 3 (c)
(3) (@) ¥ (a) @ () (@
Options:

5154756617, 1
5154756618, 2
5154756619, 3
5154756620, 4

Question Number : 106 Question Id : 6154751698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The human voice varies in the same person also from time to time due to

(a) Emotions (b) Rate of utterance

(c) Birth date and time (d) Transmission channel

Choose the correct option

(1) (c) and (a) (Z) (b) and (d)
(3) (a) and (b) (4) (d)and (c)
Options:

B154756621. 1
B154756622. 2
5154756623, 3
5154756624, 4

Question Number : 106 Question 1d : 6154751698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Faferfiaa 0 o g % e Tl =2f = o9 99 ° g99-909g W d2eid Sar 2 7

(a)  =am (b) Fe=my T
(c) = fdf9 va 957 (d) =R T
1 (o) ¥ () (2) () #R (@)

(3)  (a) W (b) @) () 3 ()
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Options: 'repp

5154756621, 1 Your Personal Exams Guide
E154756BEZ22. 2
E154756623. 3
El54756624. 4

Question Number : 107 Question Id : 6154751699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following characterstics are used to identify documents produced by lase
printers

(a) Counterfeit protection system (CPC) code

(b) Branding and lining

(c) Drum defects

(d) Indentations

Choose the correct options

(1) (a) and (b) (2) (b) and (d)
(3) (b) and (c) (4) (a) and (c)
Options:

5154756625 1
E154756626. 2
B1547566Z7. 3
B154756628. 4

Question Number : 107 Question Id : 6154751699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o fi27 % TS 9 S99 Seaiddl il UEaH i % o0 eteiad 9 § o sifiea w1 vEe e A
27

(a) e Tad FEET T (T ) FE (b) WIS 2T 31T T

() 38 =AaHA (d) =ZFFEm

(1)  (a) = (b) (2) (b) =W (d)

(3)  (b) 31 (¢) 4) () 3 (c)
Options:

5154756625, 1
B1547566ZE. 2
B154756627. 3
5154756628, 4
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Question Number : 108 Question Id : 6154751700 Question Type: MCQ Option Shuffling: No Display Question 'I%erpp
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

Illicit iguors are known as

(a) Thunder (b) Hooch
(c) Charhie (d) Moonshine

Choose the correct option

(1) (a) and (b) (2) (b)and (d)
(3) (c) and (d) (4) (a)and (c)
Options:

E154756629. 1
B154756620. 2
B154756621. 3
5154756632, 4

Question Number : 108 Question Id : 6154751700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y T F AR R — RE AW g S S 27

(a) ==t (b) ==

(c) =i (d) wFamE
(1)  (a) 5 (b) (2) () # (d)
(3)  (c) 3 (d) 4) (a) 31 (c)
Options:

B154756629. 1
6154756630, 2
5154756621, 3
5154756632 4

Question Number : 109 Question Id : 6154751701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Laboratory testing for ethyl alecohol could be done by

(a) Cavett's test (b) Fujiwara test

(c) Dille-Koppany test (d) Kozelka and Hine test

Choose the correct option

(1) (a) and (d) (2) (b) and (a)
(3) (c) and (b) (4) (d) and (c)

Options:
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6154756633 1 prepp
6154756634 2

5154756635, 3
5154756636, 4

Question Number : 109 Question Id : 6154751701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTSH Aoahin 1 TATTINEA] TO& FHefeiad o 5 5 oliEe = 91599 o {5 57 g9 = 7
(a) e ThEm (b) AT THiET
(c) Teet Tt g (d) TrEeE AT EEA e
(1)  (a) 3 (d) (2) (b) HT (a)
(3)  (c) 3T (b) (4 (D (o)
Options:

5154756633 1
5154756634 2
E154756635. 3
E154756636. 4

Question Number : 110 Question Id : 6154751702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The rfling in the barrel of the firearm 1s done to

(a) stablize the bullet flight with nose-on position

(b) decrease the recoil
(c) decrease the air-resistance
(d) enhance the working of action mechanism

Choose the correct option:

(1) (b) and (d) (2) (c) and (d)
(3) (d) and (a) (4) (a) and (c)
Options:

5154756637, 1
61547568638, 2
5154756639, 3
B154756640. 4

Question Number : 110 Question Id : 6154751702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TR =T HvE W AT T gA TG R F o
(b) A FEH FH F AT
(©  ag-ufatd = =5eH =+ o

(d)  FE-TEATET F FEE F GEE F e

T Ty g

(1) (b) #F (d) (2) (c) 7 (d)
(3  (d) I (a) @ (@) #F (o)
Options:

5154756637, 1
51547568638, 2
5154756639, 3
5154756640, 4

Question Number : 111 Question Id : 6154751703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A non- genuine signature can be detected due to

(a) Size and spacing only
(b) Inherent defects in the line quality
(c) Writing slant only

(d) Defects 1n the form and 1ts formation

Choose the correct option

(1) (a) and (b) (2) (a) and (c)
(3) (b) and (c) (4) (b) and (d)
Options:

5154756641, 1
Bl54756642 2
B154756643. 3
5154756644 4

Question Number : 111 Question Id : 6154751703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

FZ (Fhell) FEme HfeEd § T e oTaR W oAfasa o = a2 7 prepp

(a)  ad AR AR T o
(b) @ i TUEET H AT S
(c) Fae T A

(d)  wEY 3 FHmi § safawn

(1) (a) 3 (b) 2) () # W (0)
(3) () 3 (0 4 (b)#w (@)
Options:

Bl54756641. 1
Bl54756642 2
5154756643, 3
5154756644, 4

Question Number : 112 Question 1d : 6154751704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
Which of the following information about the analyte could be obtained upon analysis b
LC-MS:
(a) Molecular mass (b) Crystallimty

(c) Luminance (d) Concentration

Choose the correct option

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

£154756645. 1
5154756646, 2
5154756647, 3
51547566458, 4

Question Number : 112 Question 1d : 6154751704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in
LC-MS = favemm o faveias a3 % 9% ° H=iangd 3 9 %4 5 Jn 79 Fi =7 m'repp

Your Personal Exams Guide

(a) Ao F9H (b) TETEAT

(c)  wEToH=ET (d) =TEm

(1) (a) # T (b) 2 (b) # (o)

(3) (o) ¥R (@) (4 (d) 37 (a)
Options

B154756645 1
5154756646, 2
5154756647, 3
5154756648, 4

Question Number : 113 Question Id : 6154751705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
When a person tries to defend himself against an attack with sharp weapon. defence wound
appear an which part of s body
(a) Radial aspect of forearm (b) Flexor surface of forearm

(c) Ulnar aspect of forearm (d) Palms

Choose the correct option

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

5154756649 1
5154756650, 2
6154756651, 3
5154756652 4

Question Number : 113 Question Id : 6154751705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel FIE =Ah T w1 A ZRER ¥ B H S=H w U Rl 2, 91 39% IR & 6E B o

(a)  wETE T A (b) VAR F AFTA TR
(©) T i G THIEH Tac] (d) =a=

o e 9 -

(1) (&) 3% (b) @) (b) # (c)

(3)  (0) ¥ (d) 4) (d) 3 (a)
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Options: 'repp

51547566459 1 Your Personal Exams Guide
6154756650, 2
5154756651, 3
B154756652. 4

Question Number : 114 Question Id : 6154751706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The expression of which of the two RT- PCR based analysis can be used for the 1dentification
of saliva

(a) Kallikrein 3 (b) B-spectrin
(c) Histatin 3 (d) Statherin

Choose the correct option

(1) (a) and (d) (2) (b) and (d)
(3) (a) and (c) (4) (c)and (d)
Options:

E154756652. 1
E154756654. 2
B154756655. 3
5154756656, 4

Question Number : 114 Question 1d : 6154751706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
N 1 TEEE F 0 FE H AR A — 0 H AN AT S T B S H5ed B Y

(@)  FHiehe-3 (b) -
(c) fefza-3 (d) =

(1)  (a) 57 (d) (2) (b) 3 (d)
(3)  (a) F (o) 4 (o) =W ()
Options:

B154756652. 1
B154756654 2
5154756655, 3
5154756656, 4

Question Number : 115 Question 1d : 6154751707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) Adequate amount of writing

(b) Writings written at different time intervals
(c) Contemporary writings

(d) Writings written 1n different scripts

Choose the correct option

(1) (b) and (d)
(2) (c) and (d)
(3) (a) and (c)

(4) (a) and (b)
Options:
5154756657 1
5154756658 2
51547566549 2
5154756620, 4

Question Number : 115 Question Id : 6154751707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THFa TEF F TFeE H iaT AEl e -

(a) =Ta i gAT =
(b) T TEIES ° oTEg T
{c} !I I.-E ra‘ .-E ﬁ'ﬂ §:|

(d) - AT A | feAgag =ieq

(1) () ¥ (d)
(2) () 3 (d)
(3)  (a) # (c)

(4)  (a) 3 (b)



Options: prepp
5154756657, 1 Your Personal Exams Guide
6154756658, 2
5154756659, 3

E1547566E0. 4

Question Number : 116 Question Id : 6154751708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statments-one 1= labelled as Assertion (A) and the other 1s labelled as

Reason(R)

Assertion (A):  Solution of chloral hydrate in alchol called as “Knock out drops” 1s used for

robbery

Reason (R) : “Knock out drops” renders a person helpless immediately
In the hight of the above two statements, choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756661, 1
E15475EEEZ2. 2
E15475EEEE. 2
E1l54756664. 4

Question Number : 116 Question Id : 6154751708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ATF (A) : AT A2 TW F A H T SRR § F9ie 21552 F1 e Shdl 3 T B 2
Fr0 (R) : i #4132 S0 Rl =ik 1 dohiel H:9 591 od Bl

ST BT FUAI % Hed H HAl faheT g

(1) (A (R) 5F1 |21 2, 3117 (R). (A) Fi T& == 2

(2)  (A) FR (R)ZA T8l 2, A (R). (A) i T2 =men T4 7

(3 (AFFE W(R) ¥FEAE

(4 (A)sEEE I (R)FA
Options:
5154756661, 1
5154756662, 2
5154756663 2
5154756664 4

Question Number : 117 Question Id : 6154751709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements-one 1s labelled as Assertion (A) and the other 1&!11%‘_@(9;3:

Your

Reason (R):

Assertion (A): In tmple-quadrupole tandem mass spectrometry.collision 1nducec
dissoclation occurs In second quadrupole

Reas=on (R) : m/z separation of analyte oecurs in the second quadrupole

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

E154756EEE. 1
E15475EEEE, 2
6154756667, 2
5154756668, 4

Question Number : 117 Question Id : 6154751709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in ' re p p

= 72U 31 FYAT ° T U ST (A) 31T 5 w0 (R) 7 vourperson s cude

Ao (A) : e Fagae 259 9 TagmEA B g1 Uia faued i 9ges 7 gfed = 2
FAW (R) : 392 F m/z TIFF TG =dqe | 9ed 7 2|

ST 21 YA o Hed H Hal e I

(1)  (A) 3T (R) 3 5= 3, 791 (R). (A) i 981 =m= 2

@ (&) 3 R) I FA E, W (R). (A) FHA = 16 2

(3)  (A) " 7, @ (R) 354 7

(4) (A ¥EE 2 W (R) 9 7

Options:

6154756665, 1
6154756666, 2
6154756667, 3
6154756668, 4

Question Number : 118 Question Id : 6154751710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements-one 1s labelled as Assertion (A) and the other 1&5!]::%.@(9?

Your

Reason (R):

Assertion (A) : Tremors are the deviations from uniform stroke due to lack of skill or sel
consciousness or to the hesitation which 1s the result of copyving or
imitating.

Reason (R) : The characteristics of tremor of fraud are inequality i1n movement at ang

place 1n any stroke. with other wise very strong and vigorous stroke.

In the hight of the above two statements, choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756669 1
E154756E70. 2
E15475EE7L. 2
61l5475eE72. 4

Question Number : 118 Question Id : 6154751710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ATTFAT (A) : F94, FI97 AUTT 3720 I991 F1 FH T9a1 79 1 1 afoem auar 75 F1 9iony 2,

F FIO O9EY fg9eF 26 2

FAN (R) : F2 =1 # F99 FI [ 2 5 = off = & e J e & guen 8 v v 2 T

ST S FYA F Hed H WA e g
(1) (A) #% (R) 301 &1 7, 311 (R). (A) i 751 == =

(2) (A @ (R) a1 = 7, 70 (R). (A) i e =mwem 76 7

(3) (A @ 7, B (R) o4 &

(4) (A7 ? 1 (R) 971 2
Options:
5154756669 1
5154756670 2
5154756671, 3
5154756672 4

Question Number : 119 Question Id : 6154751711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements-one 1s labelled as Assertion (A) and the other 1!]ab¢PP

Reason (R):
Assertion (A):  Toxic response increases when benzodiazepines are mixed with aleohol
Reason (R) : Co-admimstration of alechol and benzodiazepines cause an additiv

interaction of both drugs on their depressant effects

In the light of the above two statements choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

1547566721
5154756674 2
6154756675 2
6154756676, 4

Question Number : 119 Question Id : 6154751711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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= T30 21 FYAT 7 ¥ U SATaEYA (A) 31 390 w0 (R) prepp

ATTFIA (A) : TFTRT B SSSESTS WA FH W A s 1§ atiaghyg = 2
(1) (&) #AF R) 3A F7 7, 3R (R). (A) F T8 = ¢
(2) (A 3R R)FA T 7, AR (R), (A) Fl FE =W T 2

=

(3) (A @Az, g R) =0 7

(4) (AT g (R)TE 7

Options:

6154756673 1
6154756674, 2
E15475EE7E. 2
6154756676, 4

Question Number : 120 Question Id : 6154751712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements-one 1s labelled as Assertion (A) and the other 1 nerb%_@c%c

Yo

Reason (R):

Assertion (A):  Existance of heteroplasmy 1= one of the biggest problems of working with

mt DNA.

Reason (R) : Heteroplasmy 1s the most likely result of the errors or mutations tha

happen during mt DNA

In the light of above two statements. choose the correct option

(1
(2)
(3)

(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

BE154756677. 1
B154756BE7E. 2
B154756673. 3
5154756680, 4

Question Number : 120 Question Id : 6154751712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SATHFIA (A) : U7 A1, TH. T F TG FIH T TG 2OAATSH] 1 S9A TaE a9 9aest § | v

F0 (R) : U8 A-Z.0A.0. F Ufagem F A FE T T STORGaT R0 B Tsd i 59EE g6

SATE B 2

S 291 HYA1 % ged § " R g

(1)  (A) 317 (R) 3AT =1 2, 991 (R), (A) =il F#1 = 7
(2)  (A) R R) A T4 E, W (R). (A) F 7E =wen = 2
(3) (A=A 2, A6 (R) 791 TH 2

4) (A)7T=E E, W (R)TE

Options:
E154756EF7. 1

B15475BE7E. 2
B154756673. 3
5154756680, 4

Question Number : 121 Question Id : 6154751713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements-one 1s labelled as Assertion (A) and the other isﬁajb,a]_lgd%s
Reazon (R):

Assertion (A) : The speed of burning of black powder and certain degree of 1ts strength 1s

controlled by the size of granulation

Reason (R) : As the size of granulation decreases, the strength of powder increases uptc
certain point. However, the speed of burning reduces when powder 1s made

very fine, like dust. because all the spaces between the grains are filled up
In the light of above two statements, Choose th correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

6154756681, 1
6154756682, 2
6154756683 3
£154756684. 4

Question Number : 121 Question Id : 6154751713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr fou 21 w9 © vF AlgFeE (A) 6 7 FEO (R) 2

SIFIT (A) : wotF G351 & 9o = g 31 TRl TRl guar Fuiiead % TR O [aEd B 2

FE0 (R) : 7@ Foii9a= =1 R G921 TS 6l &H § F9 75 aF aciadl widl 2| a9, e 9ssl &
gt 1 Wilq 30 G&0 S AT 2 af sao 6 T 592 A0l 8 T 6 FOHE & 75 7 T 9 A6 6

glﬂrﬁ:ﬁmﬁ%?ﬁﬁﬁqﬁm ; a-l—_r,_-fu" =
1) () #F ®) A = 2, T (R). (A) F = 2

(2) (A 3 (R) gHI T 7, W (R). (A) Fi 981 == 491 7

3) (AT, P (R) T

(4 (A 7=E 2, Fg (R) @ 2

Options:
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5154756683, 3
5154756654 4

Question Number : 122 Question Id : 6154751714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements-one 1s labelled as Assertion (A) and the other is labelled a:

Reason (R):

Assertion (A):  Eveballs become flaccid after death

Reason (R) : There 1s fall of intraocular pressure from approx. 20 mm Hg to 12 mm H;

within one hour after death

In the hight of the above two statements, Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756685, 1
E154756EEE. 2
E15475EEE7. 2
5154756688, 4

Question Number : 122 Question Id : 6154751714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT (A) : 99 T TeATa 7Y 7 e 2
F0T (R) : ST U =02 o it ofa: wasE g 0 oy 20 frefidier ung @ 12 faefider urg @ e
AL I

THF S FIAT F TEH | TEl [GEed g

(1) (A 3R ®R) A T F, A0 (R), (A) A TF == 2

(2)  (A) 3R R) A TA 7, A (R). (A) Fi FE = = 2

(3 (A Tz, fFg ®) @ 2

(4 (A 74 7, g (R) 71 7

Options:
6154756685 1

£15475668G. 2
5154756687, 3
5154756688, 4

Question Number : 123 Question 1d : 6154751715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

(Given below are two statements-one 1s labelled as Assertion (A) and the other isgf-rb%gtpls

Personal Exams Guide

Reason (R):
Assertion (A):  Forensic examination of paint require matching of layers of paint chip.
Reason (R) : Number of layers, sequence of laver and colour of each layer 1s matched fo

positive 1dentification

In hight of the above two statements, choose the correct option

(1)
(2)
(3)

(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 18 true but (R) 1s false

(A) 1s false but (R) 1s true

5154756689, 1
5154756630, 2
B1547566591. 3
5154756692, 4

Question Number : 123 Question Id : 6154751715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr fo & Fo B © v e (A) ST T R (R) 2

ATaFU (A) : TEIAE TT F AEADF TG F o T F T6 w e e 2

F07 (R) : Ta1 w1 HIEA1, TA1 %1 0 31 Tei® 94 % 1 % [GerE § Feend 96y Hed 7

WA ST FYAT % Fe 4 e fawey ghw

(1)

(2)

(3)

(4)

(&) =it (R) = e 2, 791 (R). (A) i 7 e
(A) 3T (R) 31 B3 7, W (R), (A) 1 T =30 47 2
(A) 7 2, W (R) 3197 2

(A) 375 2, 31t (R) 73 #



Options: prepp
5154756689, 1 Your Personal Exams Guide
5154756630, 2
51547566391, 3

E154756692. 4

Question Number : 124 Question Id : 6154751716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements-one 1s labelled as Assertion (A) and the other 1s labelled as

BReason (R):

Assertion (A) :  Injury penetrating the dermal layer. through dermal papillae. would result

in ridges not being regenerated

Reason (R) : Injury penetrating to epidermal laver, would repair themselves as they

were prior to Injury
In the light of the above two statements. choose the correct option;

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756693 1
6154756694 2
5154756895 2
5154756696, 4

Question Number : 124 Question Id : 6154751716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. ~ 2 =, 5 i, Bl oo n 5 . r T =
ATTFI (A) : 7= T T 2/ T i WA SO 9 THEEET Fieh T A B

FRU (R) : 79091 & SHI WA F d94aT 912 T4 2 W 0 o6 R F e ¥ gd e 9
(1) (A) 3R R) =0 71 7, 741 (R), (A) I 78] = &

(2) (A 3R R)FA 7 E, W (R). (A) F F7E = 61 2

(3) ATz, fFg ®R) ™2

(4 (A 7A #, FRd (R) 531 2

Options:
15475686592 1

B154756694. 2
5154756655, 3
51547566356, 4

Question Number : 125 Question 1d : 6154751717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(Given below are two statements-one 12 labelled az Assertion (A) and the other 12 labelled as

Eeazon (BE):

Assertion (A) : For carbon tetrachloride molecule. Raman Shifts are identical if excitatior

1s carried out with an argon-ion laser or hellum-neon laser

Reason (R) : Magnitude of Raman Shaft 1s independent of the wavelength of excitation
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 18 false but (R) 1s true

Options:
E1CC AT EEO7T 1
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6154756698 2 prepp
E- 1 54?56699 3 Your Personal Exams Guide
6154756700 4

Question Number : 125 Question 1d : 6154751717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hr= fou o1 et 9 ® v AfawYE (A) 31 gEn wE (R) 2

HIFLA (A) @ T% T59 Fl TEHT ATH-AET w50 AU BEEE FAE 99 F | R Al 7oA S

FE0 (R) : 3919 Ula1 1 901264 % &1 B 109 972 1 37e7 9A 2
ST 3E1 FoA & 54 § TF1 e g
(1)  =E (A vF (R)TH 2, 31 (A) Fi 981 wfisats (R) 2

@) = (A) ¥R (R) TA E, siw R) Fi od st (R) 94 2

(3) (A) 721 2, =% (R) 7o 2

(4) (A T4 2, @A (R) 951 7

Options:
6154756697 1

B154756659E. 2
£154756699. 3
5154756700, 4

Question Number : 126 Question Id : 6154751718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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PP
Given below are two statements-one 1s labelled as Assertion (A) and the other is!ae R

Eeason (R):

Assertion (A):  No burning. blackening or tattooing phenomenon may be observed around
the entrance hole 1n close contact gunshot wound

Reason (R) : The entire ejecta. like projectiles. smoke. semi-and unburnt particles. and

hot gases enter into the target

In hight of above two statements, Choose the correct option

(1) Both (A) and (R) are true and (R) i3 the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

6154756701, 1
E154756702. 2
6154756703, 2
5154756704 4

Question Number : 126 Question Id : 6154751718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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= U 1wy § T U SATaEYA (A) I 55 w0 (R) 7 pPrepp

ATqFYA (A) : FHT F T2 N Y 4T % WE 5 T =W AR W [, ST A1 e ] g A6
el &1

FHT (R) : T0Y07 S5 S TR WisrRTeE, g, Ad vd {51 9o w0 W A" @ F w9 o A
()  =A Q) TE ®)TF 7, 50 (A) F 7E A= R) 2

(2)  FFE(A) 3T (R) FF E, #0R (R) # R AbenE (R) T6 2

(3) (A wA 2, @A (R) T 7

@) (A 7T 2, T (R) TF #
Options:
5154756701, 1
5154756702 2
5154¥56703. 3
5154756704 4

Question Number : 127 Question 1d : 6154751719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements-one is labelled as Assertion (A) and the other 1s QE&PQQS

Reason (R)

Assertion (A): Enzymatic digestion technique 1s used to extract diatoms from body tissues

Reason (R) : Diatoms have an extracelluar coat composed of magnesium
In light of the above two statements. choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options:

154756705 1

154756706, 2

615475707, 2

61547567085 4

Question Number : 127 Question Id : 6154751719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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WA 21 U1 % Hed d T faeen g

(1) (A 3R (R) IF T 2, 3 R), (A) F 72 == 2

(2) (A #HRE R) TA FA 2, T (R). (A) F = w161

3 (AT, g R) oW 2

4 (A=A 2, g R) 5F 2

Options:

6154756705, 1
6154756706, 2
6154756707, 3
E154756708. 4

Question Number : 128 Question Id : 6154751720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(Given below are two statements-one 1s labelled as Asszertion (A) and the other 1’1!&&9&

ersonal Exams Guide

Reason (R):

Assertion (A): The standard ballistics data from the standard firearm- ammunitios
combination have no relevance vis-a-vis country made firearms

Reason (R) : Therefore, if the range of fire etc. have to be ascertained in a case involvin,

country-made firearm. they must be based upon exhaustive tests with th
suspected firearm and ammunition of the same make and batch. 1

possible, to the one used 1n the crime.

In the hight of the above statements, Choose the correct option

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 1s true but (R) 1= false

(A) 13 false but (R) 1s true

5154756709 1
B154756710. 2
5154756711, 3
5154756712 4

Question Number : 128 Question 1d : 6154751720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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HATTFRI (A) : M ATIREE T 9FEE 54194 9 TTH 5HF T9H 5 5 98E 3 TEeE 15 A

F10 (R) : s&frw, =fe et 36l g @ oS T3 Wel i W (Him) ® ghvea w9 # aen w7, i 56

fern, matfam A iR 3= s= f Mol W Ay % o mmm o (3t 599 =) 1 e o
ST 7|

(1)  (A) 3T (R) 341 79 2, 997 (R). (A) F1 =& == 2

(2)  (A) #T (R) 241 °e9 2, W (R), (A) =i =&l = 771 2

(3) (A)FFE ®@®R) FF T 2

(4) (AT T 2, o7 (R) 99 2
Options:
5154756709 1
5154756710, 2
5154756711, =
5154756712 4

Question Number : 129 Question Id : 6154751721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s the correct sequence of examination of an unknown blood stain?

(1) Spectroscopic examination. Benzidine test. Hemochromogen test., Absorption
inhibition
(2) Absorption inhibition. Benzidine test. Spectroscopic examination. Ring assay

(3) Kastle-Maver test. Teich mann test. Qakley-Fulthorpe method. Mixed agglutination
test

(4) Latte's crust method. Absorption elution methods. Single diffusion assay. RNA based
assavs

Options:

6154756713 1

6154756714 2

154756715 2

E15475E71G 4

Question Number : 129 Question Id : 6154751721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TUFerehdl ==, sSssis] WIaqo, SHims Ty, e a0y
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(3)  HEel W WA, T WA, HiFA-Feun fata, ke sifiwe

(4) =2 WA fafa, sEmey v G, the HETw ghia, SR uE U s el
Options:
6154756713, 1
6154756714, 2

£154756715. 3
5154756716, 4

Question Number : 130 Question Id : 6154751722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
Which of the following processes are correct in the order of their occurance during
automization in atomic absorption spectrometry?

(1) Nebulization. Solvent evaporation. Volatilization, Dissociation

(2) Volatihzation, Dissociation, Nebulization. Sclvent evoporation

(3) Nebulization. Volatihzation. Solvent evaporation, Dissociation
(4) Dissociation. Solvent evaporation. Nebulization. Volatilization
Options:

5154756717 1
5154756718, 2
5154756719, 3
B154756720. 4

Question Number : 130 Question Id : 6154751722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T ST WE T H WHE R % SR gied TR i el S efeiEa § 3 5 R e
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Options: 'repp

5154756717 1 Your Personal Exams Guide
6154756718, 2
5154756719, 3
B154756720. 4

Question Number : 131 Question Id : 6154751723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ministry of Home Affairs. Government of India has established recently three Centra
Forensic Science Laboratories in which set of following cities?

(1) Jodhpur. Bhopal. Bangalore (2) Pune. Ahmedabad. Jaipur
(3) Pune. Jaipur. Bhopal (4) Pune. Bhopal. Guwahati
Options:

5154756721 1
6154756722 2
E154756723. 3
B154756724. 4

Question Number : 131 Question Id : 6154751723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TE G, 90E OURE 9 B B H FHeteingd 8§ 9 9 dF 50 6 Fear e e st (9

U TH T ) = T

(1) AT, AT, SR (2) T, TEHEERE, AW
(3) 9, T, WO (4) oI, FTE, TEEE
Options:

Bl54756721. 1
6154756722 2
6154756723 3
5154756724 4

Question Number : 132 Question Id : 6154751724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following List I wath List IT 'relpmpd
Last 1 List II
(Plant Poison) (Active Principle)
(a) Strychnos Nux vomica (11 Hyoscyamine
(b) Atropa Belladonna (1) Nernfolin
(¢) Semecarpus anacardium (1) Bhilawanol
(d) Thevetia peruviana (iv) Brucine

Choose the correct option from those given below :

(1) (a)-(11), (b)-(111). (c)-(1v). (d)-(1)
(2) (a)-(111). (b)-@v). (c)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (¢)-(111). (d)-(iv)
(4) (a)-(v). (b)-(1). (c)-(ui). (d)-(11)

Options:

£154756725. 1

154756726 2

o Y S

6154756728, 4

Question Number : 132 Question Id : 6154751724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g1 =1 g=t-I1 = @y gofaa Fifae)

I .11
(e fam) CIEERECEE)
(a) Tee=dta = diia (1)  eEEEETE
(h) T"g;TErT HATSAT (1) AHIEE
(c) THFNIH TAFHIETH (i) T9=maEeE
(d) Atz TEfEE (iv) =mfE

+r fou v faweni ¥ @ g I g

(1) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(2) (a)-(111). (b)-(iv). (c)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(m1). (d)-(1v)
(4) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)
Options:

6154756725, 1

6154756726, 2

6154756727, 3

6154756728, 4
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Question Number : 133 Question 1d : 6154751725 Question Type: MCQ Option Shuffling: No Display Question Number¥es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following List I with List II

List I Last II
(a) Malathion (1) Carbamates
(b) Aldicarb (1) Pyrethroids
(¢) Endrin () Organophosphorus
(d) Cybermethrin (iv) Organochlorines

Choose the correct option from those given below :

(1) (a)-av). (b)-(i1d). (e)-G1). (d)-(1)
(2) (a)-(111). (b)-(1). (¢)-(iv). (d)-(i1)
(3) (a)-(1). (b)-(1v). (c)-(2). (d)-(111)
@) (@-{i). (b)-Q),. (e)-(11), (d)-1v)

Options:
6154756729 1

B154756720. 2
B154756721. 3
5154756732, 4

Question Number : 133 Question Id : 6154751725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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o1 -1
(a) HeATaaE (i)  FEEEE
(b) TfeswME (1) IEATESH
¢ T (iii) FATHIRERTE
(d) wETEREE (iv) SPAETES

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1). (¢)-(1v). (d)-(11)
(3) (a)-(11), (b)-(1v). ()-(1). (d)-(111)
(4) (a)-(111), (b)-(1). (¢)-(11). (d)-(1v)

Options:

6154756729 1
6154756730, 2
6154756731 3
E154756732 4

Question Number : 134 Question Id : 6154751726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(Last II) of the currency notes

(a)
(b)
(c)
(d)

ListI

Rs.100
Rs.200
Rs.500
Rs.2000

Choose the correct option:

(1)
(2
(3)
(4)

Options:

(a)-(112). (b)-(11). (c)-(2). (d)-(v)
(a)-(1), (b)-(iv). (e)-(11). (d)-(111)
(a)-(1i1). (b)-(1v). ()-(). (d)-(1)
(a)-(1). (b)-(ii1). (c)-(iv). (d)-(i1)

5154756753 1
5154756724 2
5154756735 3
B154756736. 4

List II

(1) Carcle
(1) Horizontal rectangle
(mm) Trangle

(1v) ‘H'-mark

prepp

Match the shape of raised 1dentification mark (List I) present on different den

emination

Question Number : 134 Question Id : 6154751726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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A1 20 T8 39 20 wear e w1 aen o g1 2o e e = 9w gEted 5

=11

(a) ¥=. 100
(b) =. 200
(c) %=. 500
d =. 2.000
(1) (a)-G). (b)-(1). (e)-(), (d)-(v)
@  (@-@0. (b)-v). (c)-(i1), (d)-{ii)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(4) (a)-(1). (b)-(111). (c)-(iv). (d)-(11)
Options:

B1l54756723 1
5154756734 2
6154756735, 3
6154756736, 4

I
® FT
(i) #fos = E
(i) TR

epp

PersonalExams Guide

Question Number : 135 Question Id : 6154751727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following from List I with Last IT 'repp
Last I Last IT
(a) Model signature (1) Any stroke that goes back over the
same writing stroke
(b) Patching (11) An interruption 1n a stroke caused by
removing the writing instrument from
the paper
(¢) Retracing (m1) A geninuine signature that has been
used to prepare an imitated or traced
forgery
(d) Pen hft (iv) Retouching or going back over a

defective portion of a writing stroke

Choose the correct option:

(1) (a)-(1v ). (b)-(1 ). (e)-(111 ), (d)-(1)
(2) (a)-(11). (b)-(111 ). (c)-( 1). (d)-(1v )
(3) (a)-@ ). (b)-(1v). (c)-( 11). (d)-(111)
(4) (a)-( iii), (b)-(iv ). (e)-( 1), (d)-( i1)

Options:

154756737, 1

1547567328, 2

154756729 3

154756740 4

Question Number : 135 Question Id : 6154751727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 =111
(a) wize farET () =F oFhE F TEd 9 g ohR W amE A
b A (i) % 3 9 F HOTH W H FeH 7 F B
=T 7
(c) Tz (iii) == WHUTE FEARR TEF e SeET 6
(d T (iv) =ga =i wn * e afegt T wr e

F % o gmEm fa=h 9= 9l 7

i feren g

(1)  (a)-(v). (b)-(), (c)-(m1). (d)-()
(2) (a)-(11), (b)-(111). (c)-(1). (d)-(v)
(3) (a)-). (b)-(iv). (c)-(1), (d)-(111)
4)  (a)-@). (b)-av). (c)-Q). (d)-(11)
Options:

B154756737. 1

£1547567328. 2

5154756739, 3
5154756740, 4

Question Number : 136 Question 1d : 6154751728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the monomer 1n (list I) with their corresponding polymer 1n (list IT)

List 1
(a) Ethene (1)
(b) Propene (11)
(c) Chloroethene (111)
(d) Phenylethene (1v)

(V)

Choose the correct option from those given below

(1) (a)-(v). (b)-(1), (c)-(v), (d)-(1)
2 (@-. (b)-(v). (e)-(). (d)-(v)

(3)  (a)-(iD). (b)-(iv). (c)-(i). (d)-(v)
4)  (a)-GiD), (b)-(v). (e)-(v), (d)-()

Options:

6154756741 1
6154756742 2
6154756743 3
5154756744 4

Last 11

Poly (tetra fluoro ethene)
Polyvinyl chloride
Polythene

Polypropylene
polystyrene

Prepp

rsonal Exams Guide

Question Number : 136 Question Id : 6154751728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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TH1-1 % GH (THETH) H goi-11 5 T (s5er) 3 FHied i) 'repmp
=T =111
(a) 39H (@) O (221 e 3eE)
(b) A Gi) Uit s = Es
(¢) TR (iii) TifeArE
(d) TFme e (iv) ieEETERE

(v) 9 =rEiA
TEl faed IEY,

(1) (@-(v). (b)-(11), (¢)-(av), (d)-(1D)
2  (2)-Q). (b)-(v). (c)-(). (d)-(v)

(3)  (a)-(u). (b)-(v). (c)-(1). (d)-(v)
@ (a)-u). (b)-v). (©)-(v). (d)-()

Options:

6154756741, 1
6154756742 2
6154756743 3
5154756744 4

Question Number : 137 Question 1d : 6154751729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match the following List I with List IT Prepp
List I List IT
(Growth stages of hair follicles) (Description)
(a) Anagen (1) Resting stage
(b) Telogen (1) Phase between empty hair follicle and
the growth of new hair
(c) Exogen (1) Regression of hair follicles
(d) Kenogen (1v) Active shedding of hair

(v) Active growth phase

Choose the correct option from those given below

(1 (a)-G). (b)-(id). (e)-(v). (d)-G1)
(2)  (a)-(id). (b)-(i). (¢)-(1). (d)-(iv)
(3) (a)-(iv). (b)-(1). (e)-(1). (d)-(v)
(4) (a)-(v). (b)-(). (¢)-(v). (d)-(11)

Options:
6154756745 1

Bl5475674E. 2
Bl54756747. 3
5154756748, 4

Question Number : 137 Question Id : 6154751729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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g1 1 gef-I1 % mmer wiferm Fifm) Prepp
EElS! 11
(T F9 F T F ) (o)
(a) TATSA (1) TaymmEEn
(b) ZEAEH (i) FoF TW T AR U A F I f aemEen
(c) TFEMEE (i) TH FT T TR
(d) AT (iv) T19 = 9 ¥9 ° FS

(v) ®iET dG5A e

7 e =

(1) (a)-(1). (b)-(112). (c)-(v), (d)-(11)
(2) (a)-(111). (b)-(11). (¢)-(1). (d)-(v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(v)
(4) (a)-(v). (b)-(1). (e)-(1v). (d)-(11)

Options:

6154756745 1
6154756746, 2
6154756747, 3
E154756748 4

Question Number : 138 Question Id : 6154751730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

Match the folowing from List I and Last IT

(a)
(b)
(c)
(d)

Tast I

Amatol
ASA mixture
Cordite

Cordtex

@

(11)
(111)
(1v)

Choose the correct option from those given below

(1)
(2)
(3)
4

Options:

(a)-(1). (b)-(i11). (c)-(11). (d)-(iv)
(a)-(1i1). (b)-(Av). (¢)-(). (d)-(11)
(a)-(11). (b)-(iid). (c)-(Av). (d)-(1)
(a)-(v). (b)-(11), (c)-(11). (d)-(1)

B154756745 1
B154756750. 2
5154756751, 3
5154756752 4

Prepp

r Personal Exams Guide

Last IT

Gun cotton and nitroglycerin
Penta ervthri-tetra nitrate
Ammonium nitrate and trinitrotoluene

Lead azide. lead styphnate and

aluminum powder

Question Number : 138 Question 1d : 6154751730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 =111
(a) THIIA Q) TH e 3R ATt
(b) ©TE T g (i) T TfUREETELE
(c) = (i) FFATEE 942 3R ARz
(d) FscH (iv) oS TASS, WEfeTe S TmEn e

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(iii). (¢)-(i). (d)-(iv)
(a)-(11). (b)-(av). (e)-1). (d)-(1)
(a)-(11). (b)-(i11), (c)-(v), (d)-()
(2)-(1v). (b)-(i1). (¢)-(i1). (d)-(1)

51547567459 1
5154756750, 2
5154756751, 3
B154756752. 4

Question Number : 139 Question Id : 6154751731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following from hist I and Last II

(a)
(b)
(c)
(d)

List I
Bio diesel
Naptha
Bioethanol

Biogas

(1)

(11)
(iii)
)

Choose the correct option from those given below

(1)
(2)
(3)
(4)

Options:

(a)-(v). (b)-(1). (e)-(11), (d)-(111)
(a)-(12). (b)-(av). (e)-(1), (d)-(112)
(a)-(1), (b)-(i11). (c)-(iv). (d)-(1)
(a)-(v). (b)-(11). (c)-(1). (d)-(11)

B154756752 1
B154756754 2
6154756755, 3
5154756756, 4

Last IT
Methane
Triglycerides
Hyvdrocarbon
Carbohvdrate

Your P

epp

r Personal Exams Guide

Question Number : 139 Question Id : 6154751731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T1-1 31 =11 1 gHfad i) 'repmp
T-1 =10

(a) wHETEEE G =

(b) TEm (i) ZEfoEEsA

(c) HETZIATA (i) FESEEA

) =T (iv) FEEESE

= fou o faen @ wE I g

(1) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)
(2 (a)-@11). (b)-(v), (c)-(1). (d)-(ii1)
(3)  (a)-(i). (b)-(iid). (¢)-Gv). (d)-D)
4 (a)-(v). (b)-G1d). (0)-(1), (d)-(1)

Options:

6154756753 1
6154756754 2
6154756755 2
6154756756 4

Question Number : 140 Question Id : 6154751732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match the following from List I and Last IT

List I

(a) Yaw

(b) Ricohet

(c) Obturation

(d) Recoil

Choose the correct option

(1 (a)-(u). (b)-(1). (¢)-(11). (d)-(1v)
(2) (a)-(v ), (b)-(11). (c)-( 1), (d)-( 111)
(3)  (@-1). (b)-a1). (e)-Qi1 ). (d)-Gv )
4 (a)-(1). (b)-(1). (e)-(m ), (d)-(1)

Options:

5154756757 1

5154756758, 2

5154756759 3

6154756760, 4

(@

(1)

(111)

(1v)

Prepp

ersonal Exams Guide

List IT

It 1s the sealing of the breach end of a
eun by the expanded cartridee case on
firing, to prevent the escape of gases
from the same

When the projectile strikes the surface
at a low angle and change 1ts path or
direction

It 1s the backward movement of
firearm on firing

The deviation of the projectile from its
nose onward position due to 1ts
spinning motion

Question Number : 140 Question Id : 6154751732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



www.prepp.in

T-1 1 F=1-11 9 gefea Hitm)

et 1
(a) OTEEEE
(b) fEFEz
(c) HTIH
(d) whaE
o} fae g

(1) (a)-Gi1). (b)-A). ()-(1), (d)-(v)
(2) (a)-(1v). (b)-(1). (c)-(1). (d)-(ii1 )
(3)  (a)-(). (b)-(11), (c)-(111). (d)-(1v)
4 (2)-G1). (b)-(v). (c)-(1d). (d)-@)

Options:

6154756757, 1
6154756758 2
6154756759 3
154756760, 4

Sub-Section Number:
Sub-Section 1 d:
Question Shuffling Allowed :

Prepp

ersonal Exams Guide

I

() =5F F =9 BE W FGE F famiE wa
o AT T N M e\ B e e

(i) @ TETF Taw % A H0 W HAEE FEl A
SR AT 7 397 fE WA A R

(iii) #AF-EREA % =WeE % Ag 1w w AN w2

(iv) =P Fi 7w o smym | goib i % wn
TETF e

2

61547578

Yes

Question Id : 6154751733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (141 to 145)
Cuaestion Label | Comprehiension

Read the following passage carefully and answer the questions that follow.

In a suspected murder case. the Investigating officer recovered a 9 inch sharp kmfe near the
victim's body with mght carotid artery shitted from the scene of erime. Blood stain producec
by direct contact of knife blade was observed on the lower parts of demim Jeans worn by the
victim. Fingerprnt expert lifted blood stained fingerprint from a table lying near the victim
Further. a large gushing or spurting bleod pattern was also observed on wall. The height o
these stains were at approx. 5 ft from the floor. Investizgating officer also noticed a latent
blood stained footprint on floor although an attempt was made to cleanup the floor. Stainec
clothings of the suspect were also recovered by I0. All exhibits were collected. sealed anc

sent for forensic analysis.

Sub questions
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Question Number : 141 Question Id : 6154751734 Question Type: MCQ Option Shuffling: No Display Question Numberyes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What informations can be furmished by blood stained fingerprint on table?
(a) Fingerprint pattern / Individualization

(b) Blood group of suspect / victim

(c) Cause of death

(d) Time since death

Choose the correct option
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:
6154756761 1

B1l547567EZ. 2
B154756763. 3
5154756764 4

Question Number : 142 Question Id : 6154751735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Enhancement of latent blood stained footprint can be done by

(a) Black powder

(b) Luminol reagent

(c) Digital photography
(d) Iodine fuming

Choose the correct option

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)
Options:
6154756765, 1
6154756766, 2

6154756767, 3
5154756768, 4

Question Number : 143 Question 1d : 6154751736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Tvpe of blood pattern produced on denim Jeans by knife in this case 1s known as 'repp

Your Personal Exams Guide

(1) Flow pattern (2) Skeletanized bloodstain
(3) Transfer pattern (4) Drip pattern
Options:

5154756769 1
Bl54756770. 2
B154756771. 3
6154756772 4

Question Number : 144 Question Id : 6154751737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Recovered stained cloths of the suspect can reveal :

(a) Source of blood on the garment (vietim / suspect)
(b) Reason for deposition of blood stain on suspect cloths
(c) Linkage of suspect to the scene of crime

(d) The type of weapon used

Choose the correct option

(1) (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (). (d) and (a)
(4) (d). (a) and (b)
Options:
61547567731
6154756774 2

6154756775, 3
5154756776, 4

Question Number : 145 Question Id : 6154751738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The internal angle at which blood strikes a target surface 1s known as :

(1) Point of origin (2) Angle of divergence
(3) Point of convergence (4) Angle of impact
Options:

6154756777 1
6154756778, 2
B154756773. 3
B154756780. 4

Question Id : 6154751733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

S i ~em~ = N1~
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Question Numbers : (141 to 145) prepp

Juestion Label | Comprehension Your Personal Exams Guide
F=fcatEd T i eAYEE Ui @ FEihd Yt @ I Al

Tierg 7o & AIEet ¥ IWY TS ° Wi a3 A gg o g9 an 9 difsa % 99 & g " of
== F1 U1 =TF a0 A fitsd grn uEl 12 3R S % e 9 w9 F v Y oo gE W
T % geA SE 0| 30 21 Awe 3 difed & w9t 39 ¥ ia R 2 39| 3699 A,
&iar w ot o | e 5 st w5 5 o A sEe (G2) ot S ) = deet i SEE w9 o oy
5 F2 1| T SAfaEE 7 9 W T F gl el 9 1 A 3 1 S Tai w9 R A3vE e w
T AT T 91| Wi SO R 6T 6 T o geel are s Wi s TR ) it Eeem
o % Tore Wl ugfela Sl i UHT w0k geves (Hier) R

el

Sub questions

Question Number : 141 Question Id : 6154751734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TS W 3T TF § 999 Il 30 319§ FA H gEA W 1 w6l 7 7

(a) I D9 = TEE/ AR
(b)  @fera/difsa =1 w a9E

()  Teg =1 FEO

(d) T F wIE T

TF Tk g
(1)  (a) #7 (b)
(2)  (b) 3 (c)

(3)  (c)# (d)

(4)  (a) 3R (d)
Options:
6154756761, 1
6154756762, 2
6154756763, 3
6154756764, 4

Question Number : 142 Question Id : 6154751735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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= g T A T o e A A o A g prepp

(a)  =IF Ta

B i sl
(c) TSsizet wiEmrhl
(d)  SEEE gEF

(1)  (a) 37 (b)
(2) (b)) 3 (o)

(3) (o) ¥ (d)
(4) (a) FT (d)

Options:

6154756765, 1
6154756766 2
6154756767, 3
6154756768, 4

Question Number : 143 Question 1d : 6154751736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=0 O | =76 g MW S W S T S9Ee & U W e 0 8 e w9 8 S e 2 e

(1)  W9mE e (2) FATEFA (FheeAEss) T F g
(3) AT (TFH) TEEE (4) ZoA (T59) =2
Options:

B154756769. 1
Bl54756770. 2
6154756771, 3
6154756772 4

Question Number : 144 Question 1d : 6154751737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) TSI (ifsa/aFEra) W F1 F@E
(b)  WieTa % HST G T = HeAl % FAT B B
(c) ATY T H HiEY F gy

(d)  TIF EI9ET F TER

HE] T ijﬁ'ﬂ ;
(1)  (a). (b) = (c)
2 (). () F: (d)
(3) (c). (d) #7 (a)
4)  (d), (a) 377 (b)
Options:
E1547VEETVZ 1
E1547EE7 74 2

6154756775, 3
5154756776, 4

Question Number : 145 Question Id : 6154751738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) ez 17 @A (2) SEESAH FI
(3) FrdH A 2 (4) IO T
Options:

6154756777 1
6154756778 2
B154756773. 3
B154756780. 4

Sub-Section Number: 3
Sub-Section 1d: 61547579
Question Shuffling Allowed : Yes

Question Id : 6154751739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Caesticon Label - Comprehiension
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Read the passage carefully and answer the questions that follow. 'repp

Your Personal Exams Guide

Many victims mostly females of voung age went missing within period of one vear from a
particular village. The parents of these victims lodged FIR with the nearby police station,
Police started investigating the casze. Police found during primarv investigation that these
victims were last seen entering a particular house which was close to this village.

The owner and servent who were occupyving this house were interogated thoroughly.
Investigating officer searched this house and itz garden thoroughly. On questioming the
servant. he confessed to killing of these victims using a big knife lving in the kitchen. On
searching the garden and bathroom of this house. many hard and soft tissues were recovered.
Along with this. other exhibits hike hair bands. hair clips etc. were alzo recovered and sent
for forensic examination. Since the bodies were cut into many pileces. identificatin of these
victims could not be ascertained. As there were manyv claimants. the bodily pleces were
examined properly.

Sub questions

Question Number : 146 Question Id : 6154751740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The measurement of which of these bones are better for establishing the sex of an individual.

(a) Humerus
(b) Femur

{c) Vertebrae
(d) Ulna

Choose the correct option :
(1) (a) and (c)
(2)  (a)and(d)
(3) (a) and (b)
(4) (b) and (d}
Options:
6154756781 1
6154756782 2
154756753 3
61547567354, 4

Question Number : 147 Question Id : 6154751741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Investigating officer carried out the investigation as per the provision of

(1) Section 81 CrPec (2) Section 24 CrPc
(3) Section 18 CrPe (4) Section 174 CrPc
Options:

5154756785 1
B15475678E. 2
B154756787. 3
5154756758, 4

Question Number : 148 Question Id : 6154751742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical
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Correcpt Mpal?ks: 2 WrongMarks: 0 'repp

Your Personal Exams Guide

Which of these Psychological tests are helpful in such medico-legal situations?

(a) Polygraph
(b) Graphology
(c) Voice analysis

(d) Narco analysis

Choose the correct option :

(1) (a) and (c)
(2) (b) and (d)

(3) (a) and (d)
(4) (a) and (b)
Options:

Bl54756789. 1
B1547567390. 2
61547567391, 3
5154756732 4

Question Number : 149 Question 1d : 6154751743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In India. who among these 1s authorized to hold inquest?

(1) Police officer (2) Autopsy surgeon
(3) Executive Magistrate (4) Block development officer
Options:

5154756732 1
Bl547567394. 2
B154756795. 3
5154756736, 4

Question Number : 150 Question Id : 6154751744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Accurate individuahization of the wvictims from bones 1s possible by using one of these
techniques:

(1) DNA analysis (2) Calcification
(3) Anthropometry (4) Blood group system
Options:

5154756757, 1
6154756738, 2
51547567399, 3
£154756800. 4
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Question Id : 6154751739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group cOvpreepp
Questions: No

Question Numbers: (146 to 150)
Cuestion Label - Comprehension

fﬁ%ﬁﬁﬁ§ﬂ7ﬁm¥lﬁﬁ¥ﬂFF§iﬁ‘ﬁ%E 3 T3 Hetad 971 & S i

UF O M H wE A o wEg d s ditsa, foe sifeemar i s b st o o B T
difsal = "o 9 THSER 9o WYA 4 UUE geAl WO (UF WS ) 59 R I g o &
Eli 3ﬂTﬁ'#ﬁ'W3|uvﬁn'q'gmﬁﬁqa?na'm 7= T R 5 s F A ¥ T F v e we
(a0 &7 T=9 G 5 2@ T

T8 T § T AT Wi 9 A @ srest aw Ts-ar ) i st 3 58w A s s
=3 T A o] FH W YD A9 % GRE 36 R | 9% 9% 91 & 9EF o 59 diftsal # we w6
TEE 1| 38 W F wi" qu SEe i GeEi F GRE 3HE F8R U9 GeEE 396 s e ) 3Ed
Y w7 B A5y, v fFeum el Sw = et i ff st i AR 5= wEEE wiEm F e 9w
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Sub questions
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Question Number : 146 Question Id : 6154751740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TRl =6 % et =hi TR = T8 39 2=l § H i 5 51 %1 779 3=9 27

(a) A
(b)y
{c) EIEG]
(d) AT
EEARCET iy

(1) (a) F (c)
(2) (a) 3 (d)
(3)  (a) #F (b)
(4)  (b) ¥ (d)
Options:
6154756781, 1
6154756782, 2
6154756783, 3
6154756784, 4

Question Number : 147 Question Id : 6154751741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wie AR |4 e 9 ° e aEaE o sEEn 6

(1) w81 Hism i (2) oW1 24 =AW 9 =
% W (@ 174 o i
Options:

B154756785. 1
B154756786. 2
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Question Number : 148 Question Id : 6154751742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ST H FH H TEETE WA I -t (afssi—ie ) gitfeatadt 7 g A 7

[l

(a) THITE

(b) At -fasm (TR )
(c) T Tavey (FTEE vt )
(d) 1 favemor

o o i
. | v

(1) (b) 3 (o)

2 () #FT(d)

(3)  (a) 37 (d)

(49  (a) # (b)
Options:

5154756789, 1
6154756730, 2
5154756731, 3
5154756732 4

Question Number : 149 Question Id : 6154751743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o] T (7EE ) A F T 9Rg o Fefenad § § F4 TigEd 27

1) ufew st (2) T AT F AT T
(3)  =EEHI AEATE (4) =T fawm i
Options:

5154756733 1
5154756734 2
B1547567395. 3
B1547567396. 4

Question Number : 150 Question Id : 6154751744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

e b i B SR B £TOPD

Your Personal Exams Guide

(1) =i v T fagem (2)  FedTEH
(3)  HFETE (TgTaTHE) (4) TF TE fawm

Options:

6154756797, 1
6154756798, 2
6154756799 3
£154756800, 4



